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61.200 m
60.800 m
30.000 m  30.000 m

11.000 m
3.000 m 7.000 m
2.5% VCL=62m
1.0 % 1.5%
6 5@ 1.900 m = 9.500 m
0.800  1.150 m
80<= 00~ 00"
t= 80 m
t= 40m
t =190 mm
500 1000 7/ kl =1.15
0.50 kN/m
0.60 kN/m )
kh = 0.20
SM490Y  SM490Y-H
ock = 50 N/mm?
ock = 33 N/mm?

SD295

ock = 24 N/mm?
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2-1

2-2

O = 33 N/mn?
Oca = 1/3.5%O0c | Gca = 9.4 N/mn?
SD295 Osa = 140 N/mi?
= 15.0
d do>< ky>< k, (mm)
do : ( 160)(mm)
ki z 1.15
ke :
1.00
© 80 <0 -0
(L) 1.900 / Sin® 1.929 (m)
do 30><L 110 (mm)
30>=<1.929 110
168 (mm)
d do>< ky><k, (mm)

168><1.15>%1.00

190 (mm)
mm
/@ 190
| [170 |
} 510 }
\ \
%»110 }
1 1900 L




L (0.850 - 0.600 - 0.25)/0.985  0.000 (m)
do 280><L 160 (mm)
280><0.000 160
0 (mm)
d do><ki><k, (mm)
0>=1.15>1.00
0 (mm)
d 160 (mm) d 160 (mm)
(60.00kN)D
mm j 3
300
10077
O.50kN
600

330

19

17 }
\

850 é%ﬁllo
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2-3
2-3-1

(€Y)
a)

b)

24.50>0.190>< (1.900/0.985) */10

1.73 (kN.m)

24.50 (0.510/0.985> 0.170/2)=0.284  0.31 (kN.m)

24,50 (0.110 0.170) > (0.110/2)
22.50>0.080> (1.900/ 0.985) 2 /10
23.00=0.027> (1.900/ 0.985) /10

3.0 (kN.m)

( )
(0.12>L " 0.07)> 100 0.800> K1 K2

0.03 (kN.m)
0.67 (kN.m)
0.23 (kN.m)

0.12><1.929  0.07)><100><0.800><1.000><1.000

2412 (kN.m)

( )
0.1>L " 0.04)>100>0.800><K1
0.1><1.929 '0.04)><100><0.800><1.000

186 (KN.m)

1.929 (m)

27.1 (kN.m)

1.929 (m)




2-3-2
(6]
a

b)

KL A
O]

max

)

@
a

KL A

124,505 (0.190>< 0.850/0. 985> (0.850/0.985/2)  -1.73 (kN.m)
124,505 (0.1700.740/0.985/2) < 0.362  -0.57 (kN.m)
124,505 (0.110=0.170) > (0.110/2)  -0.03 (kN.m)
-1>22.50>0.080<0.250/0.985> (0.250/0.985/2)  -0.06 (kN.m)
-1>23.00% 0.0270.250/0.985 (0.250/0.985/2)  -0.02 (kN.m)

1> 24.50> 0.600/0.985> 0.330 (0.850-0.600/2)/0.985  -2.75 (kN.m)
-1>0.50 (0.850-0.300)/0.985  -0.28 (kN.m)

-5.4 (kN.m)

1> 1005 1.30%  0.25 xK1
-1>100>0.000/(1.30><0.000 0.25)>1.000
0.00 (kN.m)

(0.850 - 0.600 - 0.25)/0.985  0.000 (m)

-1><60.00><1.187  -71.22 (kN.m)

< max) (0.5%<-71.22) 2.0 -17.81 (kN.m/m)
0.5
2.0(m)
-5.4 (kN.m)
( )/1.50  -15.5 (kN.m)
-15.5 (kN.m)

)
0.15%  0.13 100Kl
(0.15>0.000 0.13)><100>1.000 13.0 (kN.m)

(0.850 - 0.600 - 0.25)/0.985  0.000 (m)

2-4
2-4-1
()

X

: D19 1250 (mm) 240 (mm)
O o !
o O O —

: D19 1125 (mm) 250 (mm)

Mo 27.1 (kN.m)

n (As As") n (As As’) ., 2 . .
b «/( b ) b @ As d° As%)

15 > (2292.000 1146.000)
1000

|

15> (2292.000 1146.000) 2x15
7 —— > (140>2292.000 40><1146.000)
1000 1000

65.3 (mm)

As 286.50>1000/125  2292.00 (mm/m)
As’ 286.50><1000/250  1146.00 (mm/m)

do 190 (mm)
d : 190 - 50 140 (mm)
d 40 (mm)
b : 1000 (mm)
n o 15
: We
b X X X d°
We — (d =) n As (d d) 4526332 (mm°)
2 3 X
Ws
We X
Ws — - 263784 (mm*)
n d X
I oc
oc M We 6.0 (N/mm?) 9.4 (N/mm?) ( )
e S
os M Ws 103 (N/mm?) 140 (N/mm?) ( )




@
: D16 2240 (mm) :58 (mm)

o o
O 0 0 —

: D16 1120 (mm) 268 (mm)

M 18.6 (KN.m)

n (As As* n (As As* n
X ¢ ) 4/( ( ))2 = (dAs dUAsY)
b b b
X 15 > (1655.000 827.500)
1000

V(5X0%5W08N5W)2 2%15

> (122> 1655.000 58><827.500)
1000 1000

57.0 (mm)

As 198.600>< 1000/120  1655.000  (mm’/m)
As’ 198.600>< 1000/240 ~ 827.500 (mm*/m)

do 190 (mm)
d : 190 68 122 (mm)
d 58 (mm)
b : 1000 (mm)
n 15
x< d" (As® )
X n As ( n As y 2n dis
b b
15 > 1655.000 15> 1655.000 2x15
? ——— x122><1655.000
1000 1000 1000
56.9 (mm)
: We

b X X

Wic — (d ) 2931298 (mm*)
2 3

Ws

We X
Wis — — 170805  (mm®)

n d X

: oc
oc Mo We 6.3 (N/mm?) 9.4 (N/mm?) ( )

: os
MoWs 109 (N/mm®) 140 (N/mm?) ( )

2-4-2
(€Y]

: D19 1125 (mm) 240 (mm)

o o o
o o

: D19 1250 (mm) 1220 (mm)

M -15.5 (kN.m)

n (As As%) «/( n (As As") y

b b
15 > (2292.000 1146.000)
1000

X

n

(dAs d*As®)

W/( 155 (2292.000 1146.000) , 215
1000 1000

127.9 (m)

As 286.500>1000/125  2292.000  (mm’/m)
As’ 286.500>1000/250  1146.000  (mm/m)

——— >(320><2292.000 220> 1146.000)

do 360 (mm)
d : 360 40 320 (mm)
d 220 (mm)
b : 1000 (mm)
n 15
x < d° (As”
X n As ( n As Y 2n dhs
b b
15 > 2292.000 15> 2292.000 2> 15
X ? ——— >320>2292.000
1000 1000 1000
117.9 (mm)
: We
b X X
We T ( g ) 16547265 (mm%)
Ws
Ws e - 643550 (mm®)
n d X
I oc
oc M We 0.9 (N/mm?) 9.4 (N/mm?) ( )
I Os
os MoWs 24 (N/mm?) 140 (N/mm?) ( )




@
: D16 2240 (mm) :58 (mm)

o o
O 0 0 —

: D16 1120 (mm) 268 (mm)

M 13.0 (KN.m)

n (As As* n (As As* n
X ¢ ) 4/( ( ))2 = (dAs dUAsY)
b b b
X 15 > (1655.000 827.500)
1000

A/( 15> (1655.000 827.500) , 2x15

> (122> 1655.000 58><827.500)
1000 1000

57.0

As 198.600>< 1000/120  1655.000 (mm*/m)
As’ 198.600> 1000/240  827.500 (mm?/m)

o 190 (mm)
d : 190 68 122 (mm)
d 58 (mm)
b : 1000 (mm)
n 15
x< d" (As™ )
X n As ( n As y 2n dis
b b
15 > 1655.000 15> 1655.000 2x15
? ——— x122><1655.000
1000 1000 1000
56.9
: We
b X X
We —= (@ =) 2931298 (mr)
2 3
Ws
We X
Wis — — 170805 (mm®)
n d X
: oc
oc Mo We 4.4 (N/mm?) 9.4 (N/mm?) ( )
: os
os MoWs 76 (N/mm?) 140 (N/mm?) ( )
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2-5

- D19 2120 (mm) :59 (mm)

o o o
O 0 O

: D19 1120 (mm) 169 (mm)

190>1900 361000 (mn?)

286.50 > (1900 / 120 1) x 2 9168 (mm?)
60 > (1900 / 120 1) x 2 1920 (mm)
(@)
/

9168 / 361000 < 100  2.540( )
2.540  2.000(%)

@
/

1920 / 361000 0.0053 (mm/mm?)
0.0053 0.0045

11




®

: D19 2120 (mm) :59 (mm)

o o o
O 0 0 —

- D19 2120 (mm) 269 (mm)

M 18.6 (KN.m)

n (As As") 4/( n (As As")
b b
15 > (2387.500 2387.500)
1000

2n
)? B (dAs d*As")

15> (2387.500 2387.500) 2x15
( ? ——— > (121><2387.500 59> 2387.500)

1000 1000

62.6 (mm)

As. 286.500>1000/120  2387.500  (mm*/m)
As 286.500>1000/120  2387.500 (mm*/m)

do : 190 (mm)
d : 190 69 121 (mm)
d 59 (mm)
b : 1000 (mm)
n o 15
: We

b X X X d"
Wic — (d —) n As" —— (d d7) 3261863 (mm%)

2 3 X

Ws
Ws oo X 233097 (mm®)

n d X

: oc

oc M We 5.7 (N/mm?) 9.4 (N/mm?) ( )

: Os
M

os Ws 80 (N/mm*) 140 (N/mm?) ( )

3-1
kN.m
3-2
(€3]
190
170
300
850 5@ 1900= 9500 650
190
170
300
0
1) W1
1 3.7 kN/m
1 5.1 kN/m
2 3.7 kN/m
24.5 kN/m® > 0.300 m > 0.800 m > 0.9  5.292 kN/m

0.9

12

13




2) Wd2
a)
24.5 KN/m® > 0.190 m >< 1.800 m  8.379 kN/m
24.5 KN/m? > 0.170 m >< (1.470 m  0.220 m)/2 =<0.9  3.167 kN/m
( X(m)) ><2/3
= 0.000 m 24.5 kN/m* > 0.100 m > ( 0.140 + 0.004><2/3 ) m  0.349 kN/m
= 7.700 m 24.5 kN/m* > 0.100 m > ( 0.297 + 0.004><2/3 ) m  0.734 kN/m
X= 15.000 m 24.5 kN/m® > 0.100 m > ( 0.403 + 0.004><2/3 ) m  0.994 kN/m
X= 22.500 m 24.5 kN/m® > 0.100 m >< ( 0.468 + 0.004>=<2/3 ) m  1.153 kN/m
= 24.000 m 24.5 kN/m* >< 0.100 m >< ( 0.476 + 0.004><2/3 ) m  1.173 kN/m
= 30.000 m 24.5 kN/m* > 0.100 m > ( 0.490 + 0.004><2/3 ) m  1.207 kN/m
= 36.000 m 24.5 kN/m* >< 0.100 m >< ( 0.476 + 0.004><2/3 ) m  1.173 kN/m
X= 37.500 m 24.5 kN/m® > 0.100 m > ( 0.468 + 0.004><2/3 ) m  1.153 kN/m
X= 45.000 m 24.5 kKN/m* > 0.100 m > ( 0.403 + 0.004><2/3 ) m 0.994 kN/m
= 52.300 m 24.5 kN/m* > 0.100 m >< ( 0.297 + 0.004><2/3 ) m  0.734 kN/m
= 60.000 m 24.5 kN/m* > 0.100 m > ( 0.140 + 0.004><2/3 ) m  0.349 kN/m
1.0 kKN/m? > 1.800 m  1.800 kN/m
(=) | Li(n) | L2(m) | L3(m) | L4(m) (m () (m) (kN)
S1 | 80.0000| 0.335| 0.965| 0.558| 0.965 0.140|  0.413 0.900 9.108
Cl | 80.0000| 0.335| 0.965| 0.000| 0.965 0.297|  0.397 0.600 5.836
C2 | 80.0000| 0.335| 0.965| 0.000| 0.965 0.403|  0.499 0.600 7.339
C3 | 80.0000| 0.335| 0.965| 0.000| 0.965 0.468|  0.562 0.600 8.260
P1 | 80.0000| 0.335| 0.965| 0.558| 0.965 0.490|  0.751 0.800| 14.714
C4 | 80.0000| 0.335| 0.965| 0.000| 0.965 0.468|  0.562 0.600 8.260
C5 | 80.0000| 0.335| 0.965| 0.000| 0.965 0.403|  0.499 0.600 7.339
C6 | 80.0000| 0.335| 0.965| 0.000| 0.965 0.297|  0.397 0.600 5.836
S2 | 80.0000| 0.335] 0.965] 0.558| 0.965 0.140[  0.413 0.900 9.108

14

b)

24.5 kN/m® > 0.190 m > 1.900 m  8.844 kN/m

24.5 KN/m® > 0.170 m > (1.240 m 0.220 my/2 >=0.9 2.736 kN/m

1.0 kN/m* > 1.900 m 1.900 kN/m

O(=) | Li(m) | L2(m) | L3(m) | L4(m) (m) () (m) (kN)
S1 80.0000| 0.670] 1.929] 1.117| 1.929 0.140 0.826 0.900| 18.217
C1 80.0000| 0.670] 1.929] 0.000f 1.929 0.297 0.794 0.600| 11.671
C2 80.0000| 0.670] 1.929] 0.000f 1.929 0.403 0.998 0.600| 14.677
C3 80.0000| 0.670] 1.929] 0.000f 1.929 0.468 1.124 0.600| 16.521
P1 80.0000| 0.670] 1.929] 1.117| 1.929 0.490 1.501 0.800| 29.428
c4 80.0000| 0.670] 1.929] 0.000f 1.929 0.468 1.124 0.600| 16.521
C5 80.0000| 0.670] 1.929] 0.000f 1.929 0.403 0.998 0.600| 14.677
C6 80.0000| 0.670] 1.929] 0.000f 1.929 0.297 0.794 0.600| 11.671
S2 80.0000] 0.670f 1.929] 1.117| 1.929 0.140 0.826 0.900| 18.217
15
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1.800 kN/m?

22.5 kN/m* > 0.080 m

0.621 kN/m?

23.0 kN/m* > 0.027 m

0.900 kN/m?
2.392 kN/m?
2.528 kN/m
1.372 kN/m
-1.000 kN/m?
12.000 kN/m?
3.500 kN/m?
3.500 kN/m?

0.500 kN/m
0.500 kN/m
0.600 kN/m
10.000 kN/m?

4.851 kN/m

EEE

888

o oo

24.5 kKN/m* > 0.600 m > 0.330 m

24.5 KN/m? > 0.400 m >< 0.258 m
24.5 KN/m®* > 0.200 m >< 0.280 m

22.5 kN/m* > 0.040 m
) 23.0 kN/m® > 0.104 m

0.182
0.182
0.182

)
(
(i=10/(25+L))

2
3)
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1

2>

3>

4)

5>

6>

7>

8>

9>

10)

11)

12)

10.

13)

14)

0.500

-1.000

0,12.0

3.500

3.500

2 (PT.17-PT.33)

11000.0

|
\

T a
i50.¢1900.01 1

il i il il

900.0 ‘1900.0‘ 1900.0 ‘1900.06%0_
1 1 1

o

) 3400.0 : 7000.0 sfoﬂo
| | |
) 3400.0 | 7000.0 sFoﬂo
| | |
400(0 2800.0 : 7800.0
] |
400(0 2800.0 : 7800.0
| |
Zoﬂ.o 10800.0
K |
) 10700.0 310P0
| H
20&.0 10800.0
j |
) 10700.0 3ﬁ0_0
| H
) 3300.0 | 7700.0 ,
| ¢ |
‘1475.01 9525.0 ,
. |
: 11000.0 |
\ |
) 3400.0 : 7000.0 afoﬂo
| | |
) 3400.0 | 7000.0 afoﬂo
| | |
490(0 3000.0 | 7600.0 )
| |

20

3-5-1
(kN.m)
Md1 Md2 Md3 >Md MI+i >\
1 Gl 529 884 294 1707 956 2663
G2 529 891 266 1686 1037 2723
G3 529 891 245 1665 1168 2833
G4 529 891 235 1655 1257 2912
G5 529 891 235 1655 1365 3020
G6 529 795 252 1576 1482 3059
1 Gl -1144|  -1901 -622| -3668| -1069| -4737
G2 -1144 -1912 -542 -3598 -1105 -4703
G3 -1144 -1912 -489 -3545 -1179 -4724
G4 -1144 -1912 -465 -3521 -1221 -4742
G5 -1144|  -1912 -468| -3524| -1297| -4821
G6 -1144 -1713 -519 -3377 -1415 -4792
2 G1 529 884 299 1712 966 2678
G2 529 891 269 1689 1044 2734
G3 529 891 246 1666 1168 2834
G4 529 891 234 1654 1252 2906
G5 529 891 233 1653 1358 3011
G6 529 795 247 1572 1466 3038
Md1l
Md2
Md3
MI+i
M
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3-5-3 (kN
P1 P2 ((®) ®)

S1 1960 590 283 136 0 1009 -40

P1 6701 740 837 402 0 1979 81

S2 1960 590 283 136 0 1009 -40

3-5-2 (kN)
Rdl Rd2 Rd3 Rd4 >Rd Res | RI+i(+) | RI+i(-) | Rmax Rmin
1 Gl 98 168 68 12 345 -7 137 -63 482 276
G2 98 177 42 12 328 -7 173 =27 501 294
G3 98 177 40 12 326 -7 252 -26 578 293
G4 98 177 37 12 323 -7 269 -29 592 287
G5 98 177 36 11 322 -7 274 -30 596 285
66 98 151 56 11 316 -5 233 -51 549 260
1 Gl 361 59 216 0 1173 14 323 -62 1510 1111
G2 361 607 162 0 1130 14 366 -8 1510 1122
G3 361 607 144 0 1112 14 496 0 1622 1112
G4 361 607 135 0 1103 14 510 0 1627 1103
G5 361 607 131 0 1099 14 511 -3 1624 1096
G6 361 539 184 0 1084 11 448 -34 1543 1050
2 Gl 98 168 65 12 342 -7 127 -48 469 288
G2 98 177 46 12 332 -7 164 -26 496 299
G3 98 177 40 12 326 -7 250 -26 576 293
G4 98 177 37 12 323 -7 268 -29 591 287
G5 98 177 33 11 319 -7 2711 =27 590 285
66 98 151 58 11 318 -5 250 -62 568 251
Rdl
Rd2
Rd3
Rd4
Rd4 = ( )7 ( ) =< ( )
Recs
RI+I(+)
RI+i(-)
Rmax >Rd Rcs(+) RI+i(+)
Rmin >=Rd Recs(-) RI+i(-)
22
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3-5-4

(m (KN.m) [QD)
PB Mdl | MdL® [ md2 | md3 [mME+i(+)[MI+i(-)| Sd1 | Sdi® | sd2 [ Sd3+SI+i
S1 0.00| 0.00 0 0 o] -8 65 -35| 108| -10| 158 192| 448
CHL 4.00] 4.00| 360 -41| 524 185 448] -102| 72| -10] 103 145 310
PF1-L | 7.20| 7.20| 544 -74] 783] 255 748 -194| 43| -10[ 59 12| 203
PBL-CL | 12.00| 12.00| 647| -118| 884 204| 956| -304] 0| -10] -15 54| -8
PF1-R | 16.80| 16.80| 544| -173[ 625 206 850 -416| -43| -10[ -o1 -117| -262
J1 19.00( 19.00| 427| -196| 389[ 138 717| -455| -63| -10| -123 -141| -337
CH2 | 20.00| 20.00| 360 -207| 259| 95 650 -472| -72| -10| -137 -152| -372
PBL1-E | 24.00| 24.00 0| -248| -418| -121 296 -559| -108| -10| -204 -223| 545
2 25.00( 18| -389| -629| -184 197 -503| 13| -142| -218 -234| -581
P1 30.00( -47(-1098(-1901| -622 150 -1069| 39| 142| 201 299 770
J3 35.00( 18| -389| -629 -179 208| -586| -13| 142| 218 240 586
PB2-E | 0.00[ 36.00 0| -248| -418| -114 310/ -551 108 10| 204 229 551
CH5 4.00| 40.00| 360| -207 259| 103 666| -465| 72| 10| 137 151 371
4 5.00| 41.00 427| -196| 389| 146 733| -a47| 63| 10| 123 41| 337
PF2-L | 7.20| 43.20 544| -173[ 625 213 866| -407| 43| 10 o1 118 263
PB2-CL | 12.00| 48.00| 647| -118| 884 299 966| -296| o] 10[ 15 52 78
PF2-R | 16.80| 52.80| 544| -74| 783 259 744 -186| -43| 10| -59 -111  -202
CH6 | 20.00| 56.00( 360 -41| 524| 188| 444 -100[ -72 10| -103 -144| -309
S2 24.00| 60.00 0 0 o] -7 51 -27| -108| 10| -158 -191| -447
Md1
Md1® Md1
Md2
Md3
MI+i
Sd1
Sd1* Sd1
Sd2
Sd3
Sh+i
24

(m) (KN.m) [G)
PB WAL [ NdL™ | Md2 | Nd3 [Wi+i(o)[MI+i(-)| Sdl | Sdi” | Sd2 | Sd3+Sli

ST | 0.00] 0.00] 0] o 0| 3] 17| -26] 108| -10| 159 303 559
CH1 | 4.00| 4.00] 360| -41| 527| 133| 718| -103| 72| -10| 105 a1| 318
PFI-L | 7.20| 7.20| 544| -74| 794 209| 1023| -184] 43| -10| 62 160 254
PB1-CL | 12.00| 12.00| 647| -118| 891| 235 1257 -306 0| -10f -15 -118| -143
PFI-R | 16.80| 16.80| 544 -173| 630| 172| 1144 -430| -43| -10| -94|  -171] -319
J1 | 19.00] 19.00| 427| -196| 390| 106| 1014| -489| -63| -10| -124|  -210| -407
CH2 | 20.00| 20.00| 360| -207| 259| 71| 924| -515| -72| -10| -137|  -230| -449
PBL-E | 24.00| 24.00| 0| -248| -423| -104|  484| -642| -108| -10| -208]  -278| -604
2 25.00| 18| -389| -637| -158|  370| -697| 13| -142| -221|  -295| -645
PL 30.00 -47|-1098|-1912| 465 o| -1221] 39| 142| 289 200 869
3 35.00| 18| -389| -637| -150|  370| -698| -13| 142| 221 29| 646
PB2-E | 0.00] 36.00| 0| -248| —423| -105|  484| -644] 108] 10| 208 279|605
CH5 | 4.00| 40.00] 360| -207| 259| 69| 926 -517| 72| 10| 137 29| 448
J4 5.00| 41.00( 427| -196( 390| 104 1017 -490 63 10| 124 209 406
PF2-L 7.20| 43.20( 544| -173( 630| 170 1145 -431 43 10 94 171 319
PB2-CL | 12.00| 48.00| 647 -118| 891| 234 1252 -306 0 10 15 118 143
PF2-R | 16.80| 52.80| 544 -74| 794| 208 1015 -182 -43 10| -62 -159| -253
CH6 20.00| 56.00| 360 -41| 527 133 713 -101( -72 10| -105 -210| -377
S2 24.00( 60.00 0 0 0 3 15 -28| -108 10| -159 -302| -558
Md1

Md1* Md1

Md2

Md3

MI+i

Sd1

Sd1* Sd1

Sd2

Sd3

Sh+i
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(m (KN.m) [GD)

] WL | WdL™ | Md2 | Md3 [MI+i (#)[MI+i(-)| Sl | Sdi” | Sd2 | Sda+SI+i
1 0.00] 0.00] 0o o o] -4 38| -43] 108] -10] 142 280|520
CHL | 4.00] 4.00] 360 -41| 470 163] 716 -127| 72| -10| 98 226 380
PFI-L | 7.20| 7.20| 544| 74| 705| 213| 1190 -244| 43| -10| 53 76| 262
PBI-CL | 12.00] 12.00| 647| -118| 795| 252| 1482| -387] 0| -10| -13 o1 -115
PFIR | 16.80| 16.80| 544| -173| 563| 175| 1340| -543| -43| -10| -82 183 -319
J1 | 19.00] 19.00| 427| -196| 351| 123| 1141| -608| -63| -10| -111 213 397
CH2 | 20.00| 20.00| 360| -207| 234| 88| 1039 -636| -72| -10| -124 225|431
PBI-E | 24.00| 24.00] 0| -248| -376| -96| 548 -782| -108| -10| -184 322|624
2 25.00| 18| -389| -567| -148|  381| -828| 13| -142| -197 334|660
PL 30.00| -47|-1098-1713| -519 86| -1415| 39| 142| 262 01| 83
33 35.00] 18| -389| -567| -152|  871| -839| -13| 142| 197 328| 653
PB2-E | 0.00| 36.00] 0| -248| -376] -101|  531| -791| 108| 10| 184 315] 617
CH5 | 4.00| 40.00] 360| -207| 234| 81| 1019| -640| 72| 10| 124 26| 432
34 5.00 41.00| 427| -196| 351 116| 1122| -613| 63| 10| 111 214|398
PF2-L | 7.20| 43.20| 544| -173| 563| 169| 1322| -550| 43| 10| 82 183 319
PB2-CL | 12.00] 48.00| 647| -118| 795 247| 1466] -304] 0| 10| 13 o 117
PF2-R | 16.80| 52.80| 544| -74| 705| 209| 1193| -250| -43| 10| -53 177|263
CH6 | 20.00| 56.00] 360| -41| 470 160| 715| -129| -72| 10| -93 21| -381
S2 | 24.00( 60.00] 0] 0] o0 -4 48] 55| -108| 10| -142 279 519
Md1
Md1* Md1
Md2
Md3
MI+i
Sd1
Sd1* Sd1
Sd2
Sd3
Sh+i

3-5-5

o

8.103

8.235

~
A
v
-
o N o
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S35
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SMA90Y  SM490Y-H

osca = -210 N/mm?

opca 1.150sca

opca = -242 N/mm2

opca 1.350sca

opca = -284 N/mm2

osta = 210 N/mm

opta 1.350sta

opta = 284 N/mm2

mm

ock = 50 N/mm?

orl

= 45 N/mw?

oca=l/1.7><orl |oca = 26.5 N/mm?

otal= 2.5 N/mm?

ota2= 0.0 N/mm?

ota3=0.94>vock |ota3= 6.6 N/mw?

nl = 7.3

n2 = 6.4

Pt = 0.7

P = 2.0

£s = 0.00020
Ds=2x<D ds = 4.0

ock = 33 N/mm?

oca=1/3.5<ock |oca = 9.4 N/mm?

ota=1/15><ock |ota = 2.2 N/mw?

n = 7.0

b = 2.0

€s = 0.00020
Ds=2<D ds = 4.0

osa = -140 N/mm?

osa’= 140 N/mm?
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(N/mm?

ocC oS ocC oS ocC os oca osa ocC os

PF1-L 6.3 - 4.3 - 10.7] - 13.2] - | (K | -
cL-1 6.3 - 4.7| - 01| - 13.2] - | (K | -
PF1-R 6.3 - 3.1 - 9.4 - 13.2] - | (K | -
Ji 6.3 - 2.6 - 9.0 - 13.2] - | (K | -
2 | - 80| -—- 37| - 17| - 168] —— | (0K)
o - 80| -—- 74| - 153| --- 168 —— | (0K)
B | - 80| -—- 37| - 17| - 168 —— | (0K)
N 6.3 -— 2.6 - 9.0| - 13.2] ——- | (K) | ---
PF2-L 6.3 - 3.1 - 9.4 - 13.2] - | (K | -
cL-2 6.3 - 4.7 - 1.0 - 13.2] - | (K | -
PF2-R 6.3] - 4.3 - 10.6] --—- 13.2] - | () | -

44

ocC oS ocC oS ocC oS oca osa oC oS

PFI-L 6.3] - 5.6 -—- 12.0] - 13.2) —— | () | -—-
CoL-1 6.3] - 6.3 -—- 12.6] - 13.2) —— | () | -
PF1-R 6.3] - 4.3] - 10.6] --- 132 —— | (@) | -
2 6.3] - 3.6] --—- 10.0] - 132 —— | () | -—-
2 | - 80| --- 48| - 128] - 168] - | (K)
PL | - 80| --- 88| --—- 167] --- 168] - | (K)
B | - 80| --- 49 - 129 - 168] - | (K)
4 6.3 —-—- 3.5 -—- 9.9 —-—- 13.2] — | (@) | ---
PF2-L 6.3] - 4.2 - 10.5] --- 13.2] —— | (@) | -
oL-2 6.3] - 6.2] --—- 12.5) - 13.2) —— | (@) | -—-
PF2-R 6.3] - 5.6 -—- 12.0] - 13.2] — | (@ | -—-
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(61 )

SMA90Y  SM490Y-H
opcal= 1.35 * 1.8 * A/E*X1z*G*J / L / Wy

opca2= 1.2 * 1.35 * 210 4.6 L/ 3.5

E*lz
G*J
opcal
opca2 I 3.2

D

2
opc

284 N/mm?

284 N/mm?

5.3

Meq

M1 Meq

M2

46

3)
1
C L
im 6.2m 4.8m 4.8m 6. im
200000 N/mm? 77000 N/mm?
7.200 PFL = 400 kN
7.200 PFR = 460 kN
L R
m [E*1z(Nmm?) [ G*I(NmR) | Wy(mm®)  [EX1z(Nmm?) [ G*I(Nmm?) | Wy (mm®)
1 4.000 | 1.26E+14 | 1.50E+12 | 7.56E+06 | 1.26E+14 | 1.50E+12 | 9.13E+06
2 3.200 | 1.26E+14 | 1.50E+12 | 9.13E+06 | 1.26E+14 | 1.50E+12 | 1.02E+07
3 4.800 | 1.26E+14 | 1.50E+12 | 1.02E+07 | 1.26E+14 | 1.51F+12 | 1.17E+07
4 4.800 | 1.26E+14 | 1.51E+12 | 1.17E+07 | 1.26E+14 | 1.51F+12 | 1.28E+07
5 2.200 | 1.26E+14 | 1.51E+12 | 1.28E+07 | 1.26E+14 | 1.51F+12 | 1.32E+07
6 1.000 | 6.40E+13 | 5.87E+11 | 9.96E+06 | 6.40E+13 | 5.88E+11 | 1.01E+07
7 4.000 | 6.40E+13 | 5.88E+11 | 1.01E+07 | 6.40E+13 | 5.89E+11 | 1.04E+07
< >
C M H(m| Eizqm?) | GjNm?) | Wy(me) L)
Meq(Nmm?) | opcal(N/mm?) |opca2(N/mm?)|opca(N/m)| apc(N/mm?)
1.000 7.200 1.26E+14 1.50E+12 9.13E+06 6200
SMA90Y 1.89E+09 591 251 284 207 |opc opca(0k)
7.200 12.000 1.26E+14 1.51E+12 1.10E+07 4800
SMA90Y 3.01E+09 637 217 284 275 |opc opca(0k)
12.000 16.800 1.26E+14 1.51E+12 1.22E+07 4800
SMA9OY 3.23E+09 572 277 284 264 |opc opca(0k)
16.800 23.000 8.60E+13 9.15E+11 1.12E+07 6200
SM490Y 2.17E+09 312 251 284 195 opc  opea(0K)
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C |L
im ‘ 6.2m ‘ 4.8m 4.8m ‘ 6.2m im
200000 N/mm? 77000 N/mm?
7.200 PFL = 460 kN
7.200 PFR = 400 kN
L R
) |E*1Iz(Nmm2) | G*I(Nmm?) [ Wy(me) | E*1z(Nmm?) [ GFI(Nmm2) | Wy(mmd)
1 | 4.000 | 6.40E+13 | 5.89E+11 | 1.04E+07 | 6.40E+13 | 5.88E+11 | 1.01E+07
2 | 1.000 | 6.40E+13 | 5.88E+11 | 1.01E+07 | 6.40E+13 | 5.87E+11 | 9.96E+06
3 2.200 | 1.26E+14 | 1.51E+12 | 1.32E+07 | 1.26E+14 | 1.51E+12 | 1.28E+07
4 | 4.800 | 1.26E+14 | 1.51E+12 | 1.28E+07 | 1.26E+14 | 1.51E+12 | 1.17E+07
5 | 4.800 | 1.26E+14 | 1.51E+12 | 1.17E+07 | 1.26E+14 | 1.50E+12 | 1.02E+07
6 | 3.200 | 1.26E+14 | 1.50E+12 | 1.02E+07 | 1.26E+14 | 1.50E+12 | 9.13E+06
7 4.000 | 1.26E+14 | 1.50E+12 | 9.13E+06 | 1.26E+14 | 1.50E+12 | 7.56E+06
< >
C ]  C H(m| EizQm?) | Gy(Nm) | Wy(mr) L)
Meq(Nmm?) | opcal(N/mR) [opca2(N/mi2)|opca(N/mm2)| ope(N/mm?)
1.000 7.200 8.60E+13 9.15E+11 | 1.12E+07 6200
SM490Y 2.17E+09 312 251 284 195 opc  opca(0K)
7.200 12.000 1.26E+14 1.51E+12 | 1.22E+07 4800
SM490Y 3.23E+09 572 217 284 264 opc  opca(0K)
12.000 16.800 1.26E+14 1.51E+12 | 1.10E+07 4800
SM490Y 3.01E+09 637 217 284 275 opc  opca(0K)
16.800 23.000 1.26E+14 1.50E+12 | 9.13E+06 6200
SM490Y 1.89E+09 591 251 284 207 opc  opca(0K)
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D
2)
2.0 osca
(1.25)
osca= 1.2/2.0 * A/EX1Z*G*J/L/MNy * 1.25 263 N/mm* (SM490Y ~ SM490Y-H)
3 J
(m) (nm) (nm) (nm)
U.FLG 400 40 - - - -
1 WEB 664 12 - - - -
L.FLG 500 40 - - - -
Con - - 300 800 0.375 0.255
U.FLG 400 40 - - - -
2 WEB 664 12 - - - -
L.FLG 500 40 - - - -
Con - - 300 800 0.375 0.255
CON > 69
J G*J J G*J
() (Nmm?) (m*) (Nmm?) (Nmm?)
1 1.96E+07 | 1.51E+12 | 5.51E+09 | 6.56E+13 | 6.71E+13
2 1.96E+07 | 1.51E+12 | 5.51E+09 | 6.56E+13 | 6.71E+13
Timoshenko
1 64 a T b T b s b
— < — x<(EXP( — x — ) EXP( — x — D/(EXP( — < — ) EXP(
3 T b 2 a 2 a 2 a
SCx )
x x
77000 N/mm®
2.3 N/mm?
27397 N/mm?
4
E*lz =) |E* 1G] Wy L osca osc
(Nmm2) | (NmR) (Nmm2) (mm3) (mm) (N/mm?) (N/mm?)
1 4.77E+14(6.71E+13( 1.79E+14 12495809 | 30000 | 358 263 | 80 263(0K) Sh490Y
2 4.TTE+14(6.71E+13| 1.79E+14 12495809 | 30000 | 358 263 | 80 263(0K) Sh490Y
osc (1.5)

n
2

<

b
a

)
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3-9
(6L )
osca= 1.2 * A/E*Iz*6*J/L/My * 1.25 263 N/mm*  (SM490Y  SM490Y-H)
E*lz G*J  |(E*1Z*G*J)2 Wy L osca osc =
(NmP) | () (N () () | (w/me) (/)
4.TTE+14(6.71E+13| 1.79E+14 | 12495809 | 30000 | 716 263 | 124 263(0K) SM490Y
4.TTE+14(6.71E+13| 1.79E+14 | 12495809 | 30000 | 716 263 | 124 263(0K) SM490Y Ml1+Md 1" +Mc2+Md3  (kN.m)
(kN.m)
State3
State4
nl= 7.0
n2= 6.4
ocu”
osu
osl
ocl
osu
osu/1.15
N/mm?
Y 1 *0.3 +
(cm) (cm) 0.3*Md o M+ o
ocu” -4.6| -29.4 -2.3 -3.8| -10.7 -20| OK
PF1-L |oOsu -144| -12.4 830916 452 -7 748 -11 -162 -355| OK
osl 173 54.4 30 49 252 355 OK
ocu” -5.3| -31.2 -2.2 -4.2| -11.7 -20( OK
CL-1 |osu -145| -14.2 1025039 512 -7 956 -13 -165 -355| OK
osl 180 60.2 30 56 266 355 OK
ocu” -3.8| -32.6 -1.4 -3.3 -8.5 -20( OK
PF1-R |Osu -102| -15.6 1188829 360 -5 850 -11 -118 -355| OK
osl 129 64.6 20 46 195 355 OK
ocu” .0 -28.4 -1.0 -3.3 -4.3 -20( OK
Jl osu 0| -10.4 884212 228 -3 7 -8 -1 -355| OK
osl 0 69.9 18 57 16 355 OK
ocu”| 34.0( -66.5 21.3 35.5 90.8 295 OK
J2 osu 110 -54.4| 1111188 -355 17 -593 29 156 355 OK
osl -100 29.6 -9 -16 -125 -355| OK
ocl -7.4| 41.6 -2.1 -3.5| -12.9 -30| OK
ocu” 78.0| -63.6 45.3 44.0| 167.2 295 0K
P1 osu 205| -53.0| 1546158| -1100 38| -1069 37 279 355 OK
osl -177 35.0 -25 -24 -226 -355| OK
ocl -13.2| 45.5 -5.1 -4.9| -23.2 -30| OK
ocu”| 33.0( -66.5 21.2 35.0| 89.2 295 OK
J3 osu 109| -54.4| 1111188 -354 17 -586 29 155 355 OK
osl -99 29.6 -9 -16 -124 -355| OK
ocl -7.4| 41.6 -2.1 -3.4| -12.9 -30| OK
ocu” .0 -28.4 -1.1 -3.4 -4.4 -20( OK
J4 osu 0| -10.4 884212 230 -3 733 -9 -1 -355| OK
osl 0 69.9 18 58 76 355 OK
ocu” -3.9| -32.6 -1.4 -3.4 -8.7 -20( OK
PF2-L |osu -102| -15.6 1188829 362 -5 866 -11 -118 -355| OK
osl 130 64.6 20 47 197 355 OK
ocu” -5.4| -31.2 -2.2 -4.2| -11.8 -20( OK
CL-2 |osu -145| -14.2 1025039 514 -7 966 -13 -165 -355| OK
osl 181 60.2 30 57 268 355 OK
ocu” -4.6| -29.4 -2.3 -3.8| -10.7 -20( OK
PF2-R |oOsu -144( -12.4 830916 454 -7 744 -11 -162 -355| OK
osl 173 54.4 30 49 251 355 OK
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(6 ) (e )
Md1+Md1*+Md2+Md3  (kN.m) Md1+Md1™+Md2+Md3  (KN.m)
(kN.m) (kN.m)
State3 State3
State4 State4
nl= 7.0 nl= 7.0
n2= 6.4 n2= 6.4

ocu” ocu”

osu osu

osl osl

ocl ocl

osu osu
osu/1.15 osu/1.15
N/mm? N/mm?
Y I *0.3 + Y 1 *0.3 +
(cm) (cm) 0.3*Nd ol M+l o (cm) (cm) | 0.3*Md ol M+l O

ocu” -5.7| -29.0 -2.2 -5.0| -12.9 -20( OK ocu” -7.1] -30.5 -2.3 -6.4| -15.8 -20( OK
PF1-L |oOsu -148| -12.0 841266 442 -6 1023 -15 -169 -355| OK PF1-L |osu -146| -13.5 805577 416 -7 1190 -20 -173 -355| OK
osl 188 54.8 29 67 283 355 0K osl 194 53.3 28 el 300 355 OK
ocu” -6.3| -30.8 -2.1 -5.3| -13.7 -20 OK ocu” -7.9] -32.5 -2.2 -6.9| -17.0 -20( OK
CL-1 |osu -148| -13.8 1036905 497 -7 1257 -17 -171 -355| OK CL-1 |osu -148| -15.5 994678 473 -7 1482 -23 -178 -355| OK
osl 194 60.6 29 73 29 355 0K osl 203 58.9 28 88 319 355 OK
ocu” -4.7| -32.3 -1.4 -4.4| -10.4 -20( OK ocu” -6.0| -34.1 -1.4 -5.7| -13.1 -20( OK
PF1-R [osu -105 -15.3| 1201881 352 -4| 1144 -15)  -124[  -355[ OK PF1-R |oOsu -106) -17.1| 1154196 333 -5 1340 -20| -131| -355| OK
osl 143 64.9 19 62 224 355 0K osl 150 63.1 18 73 241 355 OK
ocu” -4.2| -28.0 -1.0 -4.5 -9.7 -20( OK ocu” -5.3| -290.7 -1.0 -5.6| -12.0 -20( OK
Jl osu -91| -10.0 893799 218 -2 1014 -1 -105 -355| OK J1 osu -92| -11.7 861039 212 -3 1141 -16 -110 -355| OK
osl 157 70.3 17 80 254 355 OK osl 167 68.6 17 91 275 355 OK
ocu” 37.0| -66.1 20.5 40.8 98.3 295 OK ocu” 48.0| -67.2 20.3 51.7| 120.1 295| OK
J2 osu 113 -54.0 1128077 -350 17 -697 33 163 355 0K J2 osu 116 -55.1 1076095 -326 17 -828 42 175 355 OK
osl -101 30.0 -9 -19 -129 -355| OK osl -99 28.9 -9 -22 -130 -355| OK
ocl -7.9 42.0 -2.0 -4.1| -14.0 -30( OK ocl -8.4 40.9 -1.9 -4.9| -15.3 -30( OK
ocu” 74.0| -63.4 43.0 49.6| 166.6 295 OK ocu” 88.0| -64.1 42.8 59.7| 190.5 295 OK
P1 osu 202 -52.8 1559351| -1056 36| -1221 41 279 355 0K P1 osu 205 -53.5 1518371| -1013 36| -1415 50 291 355 OK
osl -175 35.2 -24 -28 -226 -355| OK osl -173 34.5 -23 -32 -228 -355| OK
ocl -13.5 45.7 -4.8 -5.6| -23.9 -30( OK ocl -14.1 45.0 -4.7 -6.6| -25.3 -30( OK
ocu” 37.0( -66.1 20.5 40.9 98.4 295 0K ocu” 49.0| -67.2 20.4 52.4| 121.8 295 OK
J3 osu 113 -54.0 1128077 -350 17 -698 33 163 355 OK J3 osu 17| -55.1 1076095 -327 17 -839 43 177 355 OK
osl -101 30.0 -9 -19 -129 -355| OK osl -100 28.9 -9 -23 -131 -355| OK
ocl -7.9 42.0 -2.0 -4.1| -14.0 -30( OK ocl -8.5 40.9 -1.9 -5.0| -15.4 -30| OK
ocu” -4.2| -28.0 -1.0 -4.5 -9.7 -20( OK ocu” -5.2| -29.7 -1.0 -5.5| -11.8 -20| OK
J4 osu -91| -10.0 893799 217 -2 1017 -1 -105 -355| OK J4 osu -92| -11.7 861039 210 -3 1122 -15 -110 -355| OK
osl 157 70.3 17 80 254 355 OK osl 165 68.6 17 89 271 355 OK
ocu” -4.7| -32.3 -1.3 -4.4| -10.4 -20( OK ocu” -5.9| -34.1 -1.4 -5.6| -12.9 -20( OK
PF2-L |osu -105| -15.3 1201881 351 -4 1145 -15 -124 -355| OK PF2-L |osu -105| -17.1 1154196 331 -5 1322 -20 -129 -355| OK
osl 143 64.9 19 62 224 355 OK osl 149 63.1 18 72 239 355 OK
ocu” -6.2| -30.8 -2.1 -5.3| -13.6 -20( OK ocu” -7.8| -32.5 -2.2 -6.8| -16.8 -20( OK
CL-2 |osu -148| -13.8 1036905 496 -7 1252 -17 -171 -355| OK CL-2 |osu -148| -15.5 994678 472 -7 1466 -23 -178 -355| OK
osl 194 60.6 29 73 29 355 OK osl 202 58.9 28 87 317 355 OK
ocu” -5.6| -29.0 -2.2 -5.0( -12.8 =20 OK ocu” -7.1] -30.5 -2.2 -6.5| -15.8 -20( OK
PF2-R |oOsu -147( -12.0 841266 442 -6 1015 -14 -168 -355 OK PF2-R |osu -146| -13.5 805577 415 -7 1193 -20 -173 -355| OK
osl 188 54.8 29 66 283 355 0K osl 194 53.3 27 el 300 355 OK
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o (N/mn?)

oa (N/mn?)

T (N/mn?)

Ta (N/mn?)

P1
SM490Y-H
(kN) 770
WEB (mm) 790
(mm) 19
L-FLG (mm) 500
o (N/m?) 185.5
-157.5
C(N/mn?)| 51.3
ca(V/m?) 210
wa(V/m?) 120
(N/mm?) 0.96
1.2

(e )
oo ? wT™T *? 1.2
o (N/mm?)
oa (N/mm?)
T (N/mm?)
Ta (N/mm?)
P1
SM490Y-H
(kN) 869
WEB (mm) 790
(mm) 19
L-FLG (mm) 500
o (N/m?) 182.7
-155.7
C(\N/mm))| 57.9
oa(\/mm?) 210
Ta(N/mm?) 120
(N/mm?) 0.99
1.2
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o (N/mn?)

oa (N/mn?)

T (N/mn?)

Ta (N/mn?)

P1
SM490Y-H
(kN) 834
WEB (mm) 790
(mm) 19
L-FLG (mm) 500
o (N/m?) 185.7
-153.7
(/)| 55.5
oca(N/mn?) 210
wa(V/m?) 120
(N/mm?) 1.00
(1.2)

3-11

3-11-1
)
)
S1G4 )
= 592 (kN) 2 Stiff PL 160 > 14 ( SM400 )
WEB 12 (mm)
WEB 440 (mm)
14
160
160
o
12/ 332
[} o
160
160
24 < t = 288 ‘
2 PL 160 < 14 . 44.8 (cw)
1 PL 288 < 12 - 34.6 (cm)
ShAs = 79.4 (c®)

4.8 < 1.7=76.2 (c®)  79.4 (o)

oca = 140 (\/mm?)
oc =R/ 3As = 592 > 1000 / ( 76.2 > 100 )
=78 (Wm2) 140 (W/m®) ( OK )
6 mm
a = 4.242 (mm)
T =Rs / (4ah) =592 > 1000 / ( 4 > 4.242 > 440 )
=79.3 (Wmm2) 80 (N/mm2) ( OK )
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PICGA )

= 1627 (KN) 2 SUIfFPL 185 > 22 ( SW400 )

WEB 19 (mm)
WEB 790 (mm)
22
185
185
o
191389
o
185
185
24 < t = 456 ‘
2 PL 185 < 22 . 8l.4 (cw?)
1 PL 45 < 19 - 86.6 (cm)
SAs = 168.0 (cm)

81.4 < 1.7 = 138.4 (cw¥)  168.0 (c1P)

oca = 140 (N/mm?)

oc =R/ 3As = 1627 > 1000 / ( 138.4 > 100 )

= 118 (N/m?)

140 (N/m?) ( OK )

10 mm

a = 7.070 (mm)

T = Rs / (4ah) = 1627 > 1000 / ( 4 > 7.070 > 790 )

= 72.8 (\/mn?)

80 (V/m) ( OK )

)

@1 )
D 1
2 Stiff PL 175 > 14 ( SHA00 )
PF -L = 355.0 (kN) WEB 12 (mm)
WEB 588 (nm)  Stiff
PF -R = 505.0 (kN) WEB 12 (nm)
WEB 722 (mm)  Stiff
O PF R
14
= =
135
175
40
12/ 362
40 12X362)
175
135
24 < t = 288
( 24 < t = 288 )
PF -L
2 PL 135 < 14 - 37.8 (cm)
1 PL 288 < 12 - 34.6 (cm)
SAs = 72.4 (cr?)
( ) = 323 (mm)
37.8 < 1.7 = 64.3 (cm2)  72.4 (cw¥)
b/t=135/14=96 12.8 (OK)
I =1.4 > (36.2%-9.2°) /12 = 5444 (cn*)
r = ~/5444 / 64.3 = 9.2 (cm)
L/r=323/7/9.2=35 18 (0K)
oca = 140 > 1.35 = 189 (N/m?)
ot =PF/ >As = 355.0 >< 1000 / ( 64.3 > 100 )
=55 (\/mm?) 189 (\/mm) ( OK )
PF -R
2 PL 135 < 14 = 37.8 (cm)
1 PL 288 < 12 = 34.6 (cm)
SAs = 72.4 (cm)
( ) = 395 (mm)
37.8 < 1.7 = 64.3 (cm?)  72.4 (cmw)
b/t=135/14=9.6 12.8 (0K)
1 =1.4 > (36.28-9.2°) /12 = 5444 (cn*)
r = A/5444 / 64.3 = 9.2 (cm)
L/r=39.5/9.2=43 18 (0OK)
oca = 140 > 1.35 = 189 (N/m?)
oc =PF/ >As =505.0 > 1000 / ( 64.3 > 100 )
=79 (W/mm?) 189 (\/m?) ( OK )

6 mm
a = 4.242 (mm)
Ta = 80 > 1.35 = 108 (N/mv)
PF -L
T=PF/ (4ah) = 3550><1000/(4><4242><328)
8 (\N/mn?) 108 (\/mm?) ( OK )

PF -R
T =PF/ (4ah) =505.0 > 1000 / ( 4 > 4.242 < 462 )
= 64.4 (Wm?) 108 (W/mr2) ( OK )

368 (mm)
502 (mm)
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0

2 StiffFPL 175 > 14 ( SW400 )

PF -L = 505.0 (kN) WEB 12 (mm)
WEB 722 (mm) Stiff 502 (mm)
PF -R = 355.0 (kN) WEB 12 (mm)
WEB 588 (mm) Stiff 368 (mm)
PF -R
14
135
175
40
12/362
20 12X362)
175
135
24 =< t = 288 ‘
C 24 < t = 288 )
PF -L
2 PL 135 >< 14 - 37.8 (cm)
1 PL 288 > 12 - 34.6 (cm?)
SAs = 72.4 (cm?)
( ) = 395 (mm)
37.8 =< 1.7 = 64.3 (cm?) 72.4 (cm)
b/t=135/14=9.6 12.8 (0K)
1=1.4 > (36.2°-9.2°) /12 = 5444 (cnr)

L/r=3.5/792=43 18 (OK)
oca = 140 > 1.35 = 189 (N\/m?)
oc =PF/ >As =505.0 > 1000 / ( 64.3 > 100 )
=79 (/m?) 189 (\mm?) ( OK )
PF -R
2 PL 135 < 14 = 37.8 (cm?)
1 P 288 < 12 = 34.6 (cm)
SAs = 72.4 (c?)
( ) = 323 (mm)
37.8 < 1.7 = 64.3 (cw?)  72.4 (cn?)
b/t=13%/14=9.6 12.8 (0K)
1=1.4 > (36.2°-9.2°) /12 = 5444 (cnt)
r = A/5444 / 64.3 = 9.2 (cm)
L/r=323/9.2=35 8 (0K)
oca = 140 > 1.35 = 189 (N/mmz)
oc =PF/ >As =355.0 >< 1000 / ( 64.3 > 100 )
=55 (\/mm?) 189 (\/mm?) ( OK )
6 mm
a = 4.242 (mm)

Ta = 80 = 1.35 = 108 (\/m)

Fo-L
T=PF/ (4ah)= 5050><1000/(4><4242><462)
4 (Vm?) 108 (V/mP) ( OK )
PF R
T =PF/ (4ah) = 355.0 > 1000 / (4 > 4.242 =< 328 )
= 63.8 (Wm?) 108 (W/mr2) ( OK )

60

3-11-2
Gl )
(@D)
T Ta
kN mm mm mm N/mm? | N/mm?
S1 448 SM490Y 12 440 24.5 90 120| OK
P1 770| Sm490Y 19 790 24.5 55 120 OK
S2 447| SM490Y 12 440 24.5 90 120 OK
T >
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(Q)

10.4.3 10.4.12
o
T
1
o T
cm cm cm? N/mm? N/mi? 1
S1 44.0 1.2 52.8 0 76| 0.018 (OK)
PF1-L 58.8 1.2 70.6 -250 57| 0.062 (OK)
CL-1 66.4 1.2 79.7 -239 6| 0.046 (OK)
PF1-R 72.2 1.2 86.6 -235 53| 0.124 (OK)
J1 74.3 1.2 89.2 -214 52| 0.123 (OK)
2
o T
cm cm cm? N/mm? N/mm? 1
J4 74.3 1.2 89.2 -214 52| 0.123 (OK)
PF2-L 72.2 1.2 86.6 -235 53| 0.124 (OK)
CL-2 66.4 1.2 79.7 -239 6| 0.046 (OK)
PF2-R 58.8 1.2 70.6 -250 57| 0.062 (OK)
S2 44.0 1.2 52.8 0 76| 0.018 (OK)

)
1
cm cm cm cm
S1 44.0 1.2| SM490Y 0.9 1.00 0K
PF1-L 58.8 1.2| SM490Y 0.9 1.00 0K
CL-1 66.4 1.2| SM490Y 0.9 1.00 OK
PF1-R 72.2 1.2| SM490Y 0.9 1.00 OK
Jl 74.3 1.2| SM490Y 0.8 0.90 0K
J2 78.0 1.2| SM490Y 0.8 0.90 0K
P1 79.0 1.9] SM490Y 1.0 1.10 OK
2
cm cm cm cm
J3 78.0 1.2| SM490Y 0.8 0.90 0K
J4 74.3 1.2| SM490Y 0.8 0.90 0K
PF2-L 72.2 1.2| SM490Y 0.9 1.00 OK
CL-2 66.4 1.2| SM490Y 0.9 1.00 OK
PF2-R 58.8 1.2| SM490Y 0.9 1.00 0K
S2 44.0 1.2| SM490Y 0.9 1.00 0K
V(=)
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ou ol
1
PB PF PF PF PF
m kN kN m
24.000 355.0 505.0 7.200 7.200
ou ol
N/mm? | N/mm? cm cm cm kN
S1 0 0 4.0 4.0 40.0 50.0 400.0
PF1-L -281 236 4.0 4.0 40.0 50.0 400.0
CL-1 -265 223 4.0 4.0 40.0 50.0 45.0
PF1-R -259 219 4.0 4.0 40.0 50.0 460.0
J1 231 231 3.0 3.0 40.0 40.0 460.0
2
PB PF PF PF PF
m kN kN m
24.000 505.0 355.0 7.200 7.200
ou ol
N/mn2 [ N/mn? cm cm cm kN
Ja -231 231 3.0 3.0 40.0 40.0 460.0
PF2-L -259 219 4.0 4.0 40.0 50.0 460.0
CL-2 -265 223 4.0 4.0 40.0 50.0 45.0
PF2-R -281 236 4.0 4.0 40.0 50.0 400.0
S2 0 0 4.0 4.0 40.0 50.0 400.0

64

10.4.3  10.4.2

h* (cm)
( ) hem (
(cm)
= / (
hmax (cm)

max = 1.2)

10.4.12
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1
h* t S o Ta h hmax
cm cm kN N/mm? | N/mn? cm cm
S1 44.0 1.2 Sw490y 448.0 85 120 14.0 68.4
PF1-L 58.8 1.2 Sw490y 203.3 29 120 28.8 68.4
CL-1 66.4 1.2| Sw490Y 80.0 10 120 36.4| 68.4
PF1-R 72.2 1.2 Sw490y 262.0 30 120 42.2 68.4
J1 743 1.2 Sw490y 337.0 38 120 44.3 68.4
J2 78.0 1.2 Sw490y 581.1 62 120 48.0 68.4
P1 79.0 1.9| Sw490Y 770.4 51 120 49.0 108.3
k kmax | hmax><(k or kmax)
cm
S1 1.19 1.2 81.3] OK
PF1-L 2.04 1.2 82.1| 0K
CL-1 3.46 1.2 82.1| 0K
PF1-R 1.99 1.2 82.1] OK
J1 1.78 1.2 82.1| 0K
J2 1.39 1.2 82.1| 0K
P1 1.53 1.2 130.0f OK
2
h* t S o Ta h hmax
cm cm kN N/mm? | N/mn? cm cm
J3 78.0 1.2 Sw490y 586.4 63 120 48.0 68.4
J4 74.3 1.2| Sw490Y 336.9 38 120 44.3| 68.4
PF2-L 72.2 1.2 Sw490y 263.0 30 120 42.2 68.4
CL-2 66.4 1.2 Sw490y 78.0 10 120 36.4 68.4
PF2-R 58.8 1.2| Sm490Y 202.3 29 120| 28.8| 68.4
S2 44.0 1.2| Sw490Y 447.0 85 120 14.0 68.4
k kmax | hmax><(k or kmax)
cm
J3 1.38 1.2 82.1| OK
J4 1.78 1.2 82.1| OK
PF2-L 1.99 1.2 82.1| OK
CL-2 3.50 1.2 82.1| OK
PF2-R 2.05 1.2 82.1| OK
S2 1.19 1.2 81.4| OK
66

)

(C)

T Ta
kN mm m mm N/mm? | N/mm?
S1 559| Swm490Y 12 440 24.5 112 120| OK
P1 869 SM490Y 19 790 24.5 62 120| OK
S2 558| Swm490Y 12 440 24.5 112 120| OK
T >
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(Q)

10.4.3 10.4.12
o
T
1
o T
cm cm cm? N/mm? N/mi? 1
S1 44.0 1.2 52.8 0 76| 0.018 (OK)
PF1-L 58.8 1.2 70.6 -250 57| 0.062 (OK)
CL-1 66.4 1.2 79.7 -239 6| 0.046 (OK)
PF1-R 72.2 1.2 86.6 -235 53| 0.124 (OK)
J1 74.3 1.2 89.2 -214 52| 0.123 (OK)
2
o T
cm cm cm? N/mm? N/mm? 1
J4 74.3 1.2 89.2 -214 52| 0.123 (OK)
PF2-L 72.2 1.2 86.6 -235 53| 0.124 (OK)
CL-2 66.4 1.2 79.7 -239 6| 0.046 (OK)
PF2-R 58.8 1.2 70.6 -250 57| 0.062 (OK)
S2 44.0 1.2 52.8 0 76| 0.018 (OK)

)
1
cm cm cm cm
S1 44.0 1.2| SM490Y 0.9 1.00 0K
PF1-L 58.8 1.2| SM490Y 0.9 1.00 0K
CL-1 66.4 1.2| SM490Y 0.9 1.00 OK
PF1-R 72.2 1.2| SM490Y 0.9 1.00 OK
Jl 74.3 1.2| SM490Y 0.8 0.90 0K
J2 78.0 1.2| SM490Y 0.8 0.90 0K
P1 79.0 1.9] SM490Y 1.0 1.10 OK
2
cm cm cm cm
J3 78.0 1.2| SM490Y 0.8 0.90 0K
J4 74.3 1.2| SM490Y 0.8 0.90 0K
PF2-L 72.2 1.2| SM490Y 0.9 1.00 OK
CL-2 66.4 1.2| SM490Y 0.9 1.00 OK
PF2-R 58.8 1.2| SM490Y 0.9 1.00 0K
S2 44.0 1.2| SM490Y 0.9 1.00 0K
V(=)
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ou ol
1
PB PF PF PF PF
m kN kN m
24.000 355.0 505.0 7.200 7.200
ou ol
N/mm? | N/mm? cm cm cm kN
S1 0 0 4.0 4.0 40.0 50.0 400.0
PF1-L -281 236 4.0 4.0 40.0 50.0 400.0
CL-1 -265 223 4.0 4.0 40.0 50.0 45.0
PF1-R -259 219 4.0 4.0 40.0 50.0 460.0
J1 231 231 3.0 3.0 40.0 40.0 460.0
2
PB PF PF PF PF
m kN kN m
24.000 505.0 355.0 7.200 7.200
ou ol
N/mn2 [ N/mn? cm cm cm kN
Ja -231 231 3.0 3.0 40.0 40.0 460.0
PF2-L -259 219 4.0 4.0 40.0 50.0 460.0
CL-2 -265 223 4.0 4.0 40.0 50.0 45.0
PF2-R -281 236 4.0 4.0 40.0 50.0 400.0
S2 0 0 4.0 4.0 40.0 50.0 400.0
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10.4.3  10.4.2

h* (cm)
( ) hem (
(cm)
= / (
hmax (cm)

max = 1.2)

10.4.12
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1
h* t S o Ta h hmax
cm cm kN N/mm? | N/mn? cm cm
S1 44.0 1.2 Sw490y 559.2 106 120 14.0 68.4
PF1-L 58.8 1.2 Sw490y 254.2 36 120 28.8 68.4
CL-1 66.4 1.2| Sw490Y 142.7 18 120 36.4| 68.4
PF1-R 72.2 1.2 Sw490y 318.7 37 120 42.2 68.4
J1 743 1.2 Sw490y 407.1 46 120 44.3 68.4
J2 78.0 1.2 Sw490y 645.2 69 120 48.0 68.4
P1 79.0 1.9| Sw490Y 869.3 58 120 49.0 108.3
k kmax | hmax><(k or kmax)
cm
S1 1.06 1.2 72.8] 0K
PF1-L 1.83 1.2 82.1| 0K
CL-1 2.59 1.2 82.1| 0K
PF1-R 1.81 1.2 82.1] OK
J1 1.62 1.2 82.1| 0K
J2 1.32 1.2 82.1| 0K
P1 1.44 1.2 130.0f OK
2
h* t S o Ta h hmax
cm cm kN N/mm? | N/mn? cm cm
J3 78.0 1.2 Sw490y 645.9 69 120 48.0 68.4
J4 74.3 1.2| Sw490Y 406.1 46 120 44.3| 68.4
PF2-L 72.2 1.2 Sw490y 318.7 37 120 42.2 68.4
CL-2 66.4 1.2 Sw490y 142.7 18 120 36.4 68.4
PF2-R 58.8 1.2| Sm490Y 253.2 36 120| 28.8| 68.4
S2 44.0 1.2| Sw490Y 558.2 106 120 14.0 68.4
k kmax | hmax><(k or kmax)
cm
J3 1.32 1.2 82.1| OK
J4 1.62 1.2 82.1| OK
PF2-L 1.81 1.2 82.1| OK
CL-2 2.59 1.2 82.1| OK
PF2-R 1.83 1.2 82.1| OK
S2 1.07 1.2 72.9] OK
72

)

©6 )

T Ta
kN mm m mm N/mm? | N/mm?
S1 520| Swm490Y 12 440 24.5 104 120| OK
P1 834| SM490Y 19 790 24.5 59 120| OK
S2 519| Swm490Y 12 440 24.5 104 120| OK
T >
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(Q)

10.4.3 10.4.12
o
T
1
o T
cm cm cm? N/mm? N/mi? 1
S1 44.0 1.2 52.8 0 76| 0.018 (OK)
PF1-L 58.8 1.2 70.6 -250 57| 0.062 (OK)
CL-1 66.4 1.2 79.7 -239 6| 0.046 (OK)
PF1-R 72.2 1.2 86.6 -235 53| 0.124 (OK)
J1 74.3 1.2 89.2 -214 52| 0.123 (OK)
2
o T
cm cm cm? N/mm? N/mm? 1
J4 74.3 1.2 89.2 -214 52| 0.123 (OK)
PF2-L 72.2 1.2 86.6 -235 53| 0.124 (OK)
CL-2 66.4 1.2 79.7 -239 6| 0.046 (OK)
PF2-R 58.8 1.2 70.6 -250 57| 0.062 (OK)
S2 44.0 1.2 52.8 0 76| 0.018 (OK)

)
1
cm cm cm cm

S1 44.0 1.2| SM490Y 0.9 1.00 0K
PF1-L 58.8 1.2| SM490Y 0.9 1.00 0K
CL-1 66.4 1.2| SM490Y 0.9 1.00 OK
PF1-R 72.2 1.2| SM490Y 0.9 1.00 OK

Jl 74.3 1.2| SM490Y 0.8 0.90 0K

J2 78.0 1.2| SM490Y 0.8 0.90 0K

P1 79.0 1.9] SM490Y 1.0 1.10 OK
2

cm cm cm cm

J3 78.0 1.2| SM490Y 0.8 0.90 0K

J4 74.3 1.2| SM490Y 0.8 0.90 0K
PF2-L 72.2 1.2| SM490Y 0.9 1.00 OK
CL-2 66.4 1.2| SM490Y 0.9 1.00 OK
PF2-R 58.8 1.2| SM490Y 0.9 1.00 0K

S2 44.0 1.2| SM490Y 0.9 1.00 0K

V(=)
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ou ol
1
PB PF PF PF PF
m kN kN m
24.000 355.0 505.0 7.200 7.200
ou ol
N/mm? | N/mm? cm cm cm kN
S1 0 0 4.0 4.0 40.0 50.0 400.0
PF1-L -281 236 4.0 4.0 40.0 50.0 400.0
CL-1 -265 223 4.0 4.0 40.0 50.0 45.0
PF1-R -259 219 4.0 4.0 40.0 50.0 460.0
J1 231 231 3.0 3.0 40.0 40.0 460.0
2
PB PF PF PF PF
m kN kN m
24.000 505.0 355.0 7.200 7.200
ou ol
N/mn2 [ N/mn? cm cm cm kN
Ja -231 231 3.0 3.0 40.0 40.0 460.0
PF2-L -259 219 4.0 4.0 40.0 50.0 460.0
CL-2 -265 223 4.0 4.0 40.0 50.0 45.0
PF2-R -281 236 4.0 4.0 40.0 50.0 400.0
S2 0 0 4.0 4.0 40.0 50.0 400.0
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10.4.3  10.4.2

h* (cm)
( ) hem (
(cm)
= / (
hmax (cm)

max = 1.2)

10.4.12
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1
h* t S o Ta h hmax
cm cm kN N/mm? | N/mn? cm cm
S1 44.0 1.2 Sw490y 519.7 98 120 14.0 68.4
PF1-L 58.8 1.2 Sw490y 261.7 37 120 28.8 68.4
CL-1 66.4 1.2| Sw490Y 115.1 14 120 36.4| 68.4
PF1-R 72.2 1.2 Sw490y 318.6 37 120 42.2 68.4
J1 743 1.2 Sw490y 396.9 45 120 44.3 68.4
J2 78.0 1.2 Sw490y 659.7 70 120 48.0 68.4
P1 79.0 1.9| Sw490Y 833.5 56 120 49.0 108.3
k kmax | hmax><(k or kmax)
cm
S1 1.10 1.2 75.5] OK
PF1-L 1.80 1.2 82.1| 0K
CL-1 2.88 1.2 82.1| 0K
PF1-R 1.81 1.2 82.1] OK
J1 1.64 1.2 82.1| 0K
J2 1.30 1.2 82.1| 0K
P1 1.47 1.2 130.0f OK
2
h* t S o Ta h hmax
cm cm kN N/mm? | N/mn? cm cm
J3 78.0 1.2 Sw490y 653.1 70 120 48.0 68.4
J4 74.3 1.2| Sw490Y 398.0 45 120 44.3| 68.4
PF2-L 72.2 1.2 Sw490y 318.6 37 120 42.2 68.4
CL-2 66.4 1.2 Sw490y 117.4 15 120 36.4 68.4
PF2-R 58.8 1.2| Sm490Y 262.9 37 120| 28.8| 68.4
S2 44.0 1.2| Sw490Y 518.7 98 120 14.0 68.4
k kmax | hmax><(k or kmax)
cm
J3 1.31 1.2 82.1| OK
J4 1.64 1.2 82.1| OK
PF2-L 1.81 1.2 82.1| OK
CL-2 2.85 1.2 82.1| OK
PF2-R 1.79 1.2 82.1| OK
S2 1.11 1.2 75.6] 0K
78

(6L )
" I I
Y
Cca)
[©)]
B
b( )a( ) | X X v X X Y
0.6 0.0328 0.0176 0.0095 0.07280 | -0.03570 | -0.05410
0.7 0.0363 0.0220 0.0124 -0.07640 | -0.042%0 | -0.05330
0.8 0.0392 0.0262 0.0148 -0.07930 | -0.04930 | -0.05230
0.9 0.0415 0.0298 0.0165 -0.08170 | -0.05500 | -0.05110
1.00 0.0434 0.0329 0.0178 -0.08340 | -0.08000 | -0.04980
1.10 0.0445 0.0357 0.0184 -0.08410 -0.06460 -0.04790
1.20 0.0456 0.0385 0.0190 -0.08470 | -0.08920 | -0.04590
1.30 0.0456 0.0385 0.0190 -0.08470 | -0.06920 | -0.04590
1.40 0.0450 0.0397 0.0180 -0.08350 -0.07150 -0.04340
1.50 0.0444 0.0409 0.0170 -0.08230 | -0.07380 | -0.04080
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1

X

! !

> | |

Y
a)d
(@ =220 (mm) (b) = 175 (mm)
=400 (mm)
PF = 400 (kN)
P= 400/ 2 > 1.5( ) = 300 (kN)

b/a = 175 / 220 = 0.80

X 175 > 0.03920 >< PO > a? = 2587200 (N.mm)

X 175 > 0.02620 >< PO > a* = 1729200 (N.mm)

Y 220 > 0.01480 >< PO > a? = 1227977 (N.mm)

X 175 > -0.07930 > PO > & = -5233800 (N.mm)

X 175 > -0.04930 >< PO > a* = -3253800 (N.mm)

Y 220 > -0.05230 >< PO > a? = -4339406 (N.mm)
PO = / (@ > b) = 7.792 (N\/m?)

M = 5233800 (N.mm)

t =40 mm ( SV490Y )

treg=+/6 % M/ (b0 x oa )

b0 : 175 (mm)
oa : = 355 (N/mm?)

treq =~/ 6 < 5233800 / ( 175 < 355 ) = 22.5 (mm)

X
! !

> | |

Y
a)d
(@ =220 (mm) (b) = 175 (mm)
=400 (mm)
PF = 460 (kN)
P = 460 /2 < 1.5( ) = 345 (kN)

b/a = 175 / 220 = 0.80

X 175 > 0.03920 >< PO >< @’ =
X 175 >< 0.02620 >< PO >< & =
Y 220 >< 0.01480 > P0 =< & =
X 175 =< -0.07930 =< PO < &’ =
X 175 > -0.04930 >< PO >< & =
Y 220 >< -0.05230 >< PO =< & =

PO = / (a > b) = 8.961 (N/m?)

M = 6018870 (N.mm)

=30 M ( SV490Y )

treg =/ 6 % N/ (b0 x oa )

b0 : 175 (mm)
oa : = 355 (\/mn?)

2975280 (N.mm)
1988580 (N.mm)
1412174 (N.mm)
6018870 (N.mm)
3741870 (N.mm)
4990317 (N.mm)

treq=+/6 > 6018870 / (175 < 355 ) = 24.1 (mm)
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2
’ ! !
> | |
Y
a)d
(@ =220 (mm) (b) = 175 (mm)
=400 (mm)
PF = 460 (kN)
P= 460/ 2 > 1.5( ) = 345 (kN)
b/a = 175 / 220 = 0.80
X 175 >< 0.03920 >< PO > a® = 2975280 (N.mm)
X 175 > 0.02620 >< PO > a* = 1988580 (N.mm)
Y 220 > 0.01480 > PO >< & = 1412174 (N.mm)
X 175 > -0.07930 > PO > & = -6018870 (N.mm)
X 175 > -0.04930 >< PO > a* = -3741870 (N.mm)
Y 220 > -0.05230 >< PO > a? = -4990317 (N.mm)
PO = / (a > b) =8.961 (N/m?)

’ ! !
> | |
Y
a)
(@ =220 (mm) (b) = 175 (mm)
=400 (mm)
PF =400 (kN)
P= 400/ 2 > 1.5( ) = 300 (kN)
b/a = 175 / 220 = 0.80
X 175 =< 0.03920 >< PO > a = 2587200 (N.mm)
X 175 > 0.02620 >< PO > a* = 1729200 (N.mm)
Y 220 > 0.01480 > PO > & = 1227977 (N.mm)
X 175 > -0.07930 > PO >< & = -5233800 (N.mm)
X 175 > -0.04930 >< PO > a* = -3253800 (N.mm)
Y 220 >< -0.05230 > PO > a2 = -4339406 (N.mm)
PO = / (a >< b) = 7.792 (N\/m?)

M = 6018870 (N.mm)

t =30 mm ( SV490Y )

treg=+/6 % M/ (b0 x oa )

b0 : 175 (mm)
oa : = 355 (N/mm?)

treq=+/ 6 < 6018870 / ( 175 < 355 ) = 24.1 (mm)

M = 5233800 (N.mm)

T =40 mm ( SV4OY )

treg =/ 6 % N/ (b0 x oa )

b0 : 175 (mm)
oa : = 355 (\/mn?)

treq =/ 6 < 5233800 / (175 < 355 ) = 22.5 (mm)

82

83




3-13

3-13-1
( 22%22*250)
1 (mm) |
S1 |PFI-L| CL-1 |PFI-R| J1 |PBI1-E
1 279| 344] 600 354 292| 303
4 279| 344| 600 354 292| 303
6 279| 344] 600 354 292| 303
279] 344] 600 354 292| 303
2 (mm) |
PB2-E| J4 |PF2-L| CL-2 |PF2-R| S2
1 303| 292| 354| 600| 344| 279
4 303| 292| 354| 600| 344| 279
6 303| 292| 354| 600| 344| 279
303| 292| 354| 600| 344| 279
(D22*50 6 / )
1 (mm) |
PBI-E| J2 PL | J3 |PB2-E
1 208| 196| 189 194| 206
4 188| 177| 168| 177| 188
6 181| 172| 174|174 183
181) 172] 168| 174] 183
(D22*100 4 /)
1 (mm) |
SL |PFI-L| CL-1 |PFI-R| J1 [PBI-E| J2 P1
1 299| 570 570 570 558 393| 377| 342
4 183| 435 570 483| 374| 316| 299| 256
6 210| 408| 570 4e4| 374| 278| 269| 270
183| 408| 570 464| 374| 278] 269| 256
2 (mm) |
J3 |PB2-E| J4 |PF2-L| CL-2 [PFP2R| $2
1 368| 383 558 570| 570| 570| 301
4 299| 315| 376| 483| 570| 438 183
6 274| 284| 372| 464| 570| 405] 211
214| 284] 372| 464| 570] 405| 183

84

(6l )

State-1
SRC State-2
H="Prl =< Gc Iv
S = Prl (kN
=S Q)
Ge (cm®)
Gc = Ac/ >=d
Ac/ (cm)
d=yYcll Ycl2 (cm)
Ycll ( ) (cm)
Yel2 ( ) (em)
Iv (State-1)
22 > 22 > 250 (S3400)
Qa=ol <Al
ol (\/mm?)
ol 0.25 0.05><A Al ><orl 0.5><orl
A b0 >< h0 (cm?)
b0 (cm
ho (cm)
Al (cm)
Al = 2.2 > 25.0 = 55.0 (cm?)
orl (N/mm?)
orl = 45 (\/m?)
M = 1361250 (N.mm) S = 123750 (N)
1 =222 () Y=1.1(m) Al =55.0 (cw)
(N/mm?) (\N/mm?) (N/mm?)
68 140 0K 23 80 0K 0.3 1.2 0K

(Wme)

(mm)
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Ac/n [ el ] Yel2 | Ge Iv 6/l
cm? cm cm? ot /cm
S1 301.4| 26.4| 15.2| 11.2 3376| 304815 0.01107
PF1-L 301.4| 30.7 15.2| 15.5 4672  519227| 0.00900
CL-1 301.4| 32.9| 15.2| 17.7 5335| 654761 0.00815
PF1-R 301.4| 34.6 15.2| 19.4 5847|  770140( 0.00759
J1i 312.3| 34.1| 15.1| 19.0 5934| 644563 0.00921
PBL-E | 312.3] 35.1] 15.1] 20.0 6246| 702979| 0.00889
pri [ ho [0 [ A [ A ol H Qa [ Preq [ Pmax
kN cm cm? N/mm2 N/mm N mm
S1 400 11.0{ 50.0 550 55| 33.8| 22.5| 443 123750| 279 600
PF1-L 400| 11.0| 50.0f 550 55| 33.8| 22.5| 360 123750| 344 600
CL-1 45| 11.0 50.0| 550 55| 33.8| 22.5 37| 123750 600| 600
PF1-R 460| 11.0| 50.0| 550 55| 33.8| 22.5| 349 123750| 354 600
J1i 460 12.0 40.0( 480 55| 30.9| 22.5| 423 123750| 292 600
PB1-E 460| 12.0| 40.0| 480 55| 30.9| 22.5| 409 123750| 303| 600
req a
Ac/n [ el [ vel2 | Ge Iv Ge/Iv
cn? cm cm? cmt /cm
PB2-E 312.3| 35.1| 15.1| 20.0 6246| 702979 0.00889
J4 312.3| 34.1| 15.1| 19.0 5934|  644563| 0.00921
PF2-L 301.4| 34.6 15.2| 19.4 5847|  770140( 0.00759
CL-2 301.4| 32.9| 15.2| 17.7 5335| 654761 0.00815
PF2-R 301.4| 30.7 15.2| 15.5 4672  519227| 0.00900
S2 301.4| 26.4| 15.2| 11.2 3376| 304815 0.01107
Prl ho | bo A AL ol H Qa Preq | Pmax
kN cm cn? N/mm? N/mm N mm
PB2-E 460| 12.0| 40.0| 480 55| 30.9| 22.5| 409 123750| 303| 600
J4 460 12.0 40.0| 480 55| 30.9| 22.5| 423| 123750| 292 600
PF2-L 460| 11.0| 50.0| 550 55| 33.8| 22.5| 349 123750| 354 600
CL-2 45| 11.0{ 50.0f 550 55 33.8| 22.5 37| 123750| 600| 600
PF2-R 400 11.0| 50.0( 550 55| 33.8 22.5| 360| 123750| 344 600
S2 400| 11.0| 50.0f 550 55| 33.8| 22.5| 443| 123750 279 600
req a

@22 =< 50 H/D = 2.27

Qa=1.72 x D < H =< aA/ock H/D 5.5

86

H (mm)
D (mm)
ock (N/mm?)
ock = 50 (N/mm?)
Qa = 13378 N/
1 6 Q =80271 N
Iv (State-2) (cmt)
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Ac/n | Yell | yel2 | Ge v Ge/Iv
cm? cm cm? cm* /cm
PB1-E | 312.3] 66.1] 15.1] 51.0] 15927 2246576] 0.00709
2 312.3| 66.0| 15.1| 50.9| 15896 2254032| 0.00705
P1 297.9] 64.3] 15.2| 49.1] 14627 2649446 0.00552
J3 312.3] 66.0] 15.1] 50.9] 15896 2254032| 0.00705
PB2-E | 312.3| 66.1| 15.1| 51.0|  15927| 2246576 0.00709
S H Qa Preq | Pmax
kN N/mm N mm
PB1-E 545 386 80271 208] 600
32 581 410] 80271 196] 600
P1 770 425 80271 189] 600
J3 586| 414 80271 194| 600
PB2-E 551 301 so271|  206] 600
req a
88

@22 > 100 H/D = 4.55

Qa=1.72 x D < H =< aA/ock H/D 5.5

H (mm)
D (mm)
ock (N/mm?)
ock = 33 (N\/mm?)
Qa = 21737 N/
1 4 Q = 86950 N
H =8 > Gc/lv

S (kN)
Gc 1 (cm)

Gc = Ac/ > d

Ac/ (cm)

d=Ycul Ycu2

Ycul

Ycu2 (cm)
Iv State-3 State-2

(cm)
(cm)
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Ac/n | Yell | yel2 | Ge v Ge/Iv
cm? cm cm? cm* /cm
S1 646.8| -13.4| -35.4] 22.0 14230 940188 0.01513
PF1-L 646.8| -13.4| -29.4| 16.0 10349 830916 0.01245
CL-1 646.8| -13.4| -31.2| 17.8 11513 1025039| 0.01123
PF1-R 646.8| -13.4| -32.6] 19.2 12419| 1188829| 0.01045
Ji 652.5| -13.4| -28.4| 15.0 9788  884212| 0.01107
PB1-E 652.5| -13.4| -47.5| 34.1 22250 2246576| 0.00990
2 643.5| -13.5| -48.0| 34.5 22201| 2254032 0.00985
P1 606.1| -13.5| -50.7| 37.2 22547| 2649446 0.00851
S H Qa Preq | Pmax
kN N/mm N mm
S1 192 291 86950 299 570
PF1-L 112 139 86950 570 570
CL-1 54 61 86950 570 570
PF1-R 117 123 86950 570 570
Ji 141 156 86950 558 570
PB1-E 223 221 86950 393 570
32 234 231 86950 377 570
P1 299 254 86950 342 570
req a
Ac/n | Yell | Yerz | Ge Iv Ge/ v
cm? cm cm? cm* /cm
33 643.5| -13.5| -48.0| 34.5 22201| 2254032 0.00985
PB2-E 652.5| -13.4| -47.5| 34.1 22250 2246576 0.00990
J4 652.5| -13.4| -28.4| 15.0 9788  884212| 0.01107
PF2-L 646.8| -13.4| -32.6] 19.2 12419| 1188829| 0.01045
CL-2 646.8| -13.4| -31.2| 17.8 11513 1025039| 0.01123
PF2-R 646.8| -13.4| -29.4| 16.0 10349  830916| 0.01245
S2 646.8| -13.4| -35.4| 22.0 14230 940188 0.01513
S H Qa Preq | Pmax
kN N/mm N mm
J3 240 236 86950 368 570
PB2-E 229 227 86950 333 570
J4 141 156 86950 558 570
PF2-L 118 124 86950 570 570
CL-2 52 59 86950 570 570
PF2-R 111 138 86950 570 570
S2 191 289 86950 301 570
req a
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(6 )

State-1
SRC State-2
H="Prl =< Gc Iv
S = Prl (kN
=S Q)
Ge (cm®)
Gc = Ac/ >=d
Ac/ (cm)
d=yYcll Ycl2 (cm)
Ycll ( ) (cm)
Yel2 ( ) (em)
Iv (State-1)
22 > 22 > 250 (S3400)
Qa=ol <Al
ol (\/mm?)
ol 0.25 0.05><A Al ><orl 0.5><orl
A b0 >< h0 (cm?)
b0 (cm
ho (cm)
Al (cm)
Al = 2.2 > 25.0 = 55.0 (cm?)
orl (N/mm?)
orl = 45 (\/m?)
M = 1361250 (N.mm) S = 123750 (N)
1 =222 () Y=1.1(m) Al =55.0 (cw)
(N/mm?) (\N/mm?) (N/mm?)
68 140 0K 23 80 0K 0.3 1.2 0K

(Wme)

(mm)
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Ac/n [ el ] Yel2 | Ge Iv 6/l
cm? cm cm? ot /cm
S1 301.4| 26.4| 15.2| 11.2 3376| 304815 0.01107
PF1-L 301.4| 30.7 15.2| 15.5 4672  519227| 0.00900
CL-1 301.4| 32.9| 15.2| 17.7 5335| 654761 0.00815
PF1-R 301.4| 34.6 15.2| 19.4 5847|  770140( 0.00759
J1i 312.3| 34.1| 15.1| 19.0 5934| 644563 0.00921
PBL-E | 312.3] 35.1] 15.1] 20.0 6246| 702979| 0.00889
pri [ ho [0 [ A [ A ol H Qa [ Preq [ Pmax
kN cm cm? N/mm2 N/mm N mm
S1 400 11.0{ 50.0 550 55| 33.8| 22.5| 443 123750| 279 600
PF1-L 400| 11.0| 50.0f 550 55| 33.8| 22.5| 360 123750| 344 600
CL-1 45| 11.0 50.0| 550 55| 33.8| 22.5 37| 123750 600| 600
PF1-R 460| 11.0| 50.0| 550 55| 33.8| 22.5| 349 123750| 354 600
J1i 460 12.0 40.0( 480 55| 30.9| 22.5| 423 123750| 292 600
PB1-E 460| 12.0| 40.0| 480 55| 30.9| 22.5| 409 123750| 303| 600
req a
Ac/n [ el [ vel2 | Ge Iv Ge/Iv
cn? cm cm? cmt /cm
PB2-E 312.3| 35.1| 15.1| 20.0 6246| 702979 0.00889
J4 312.3| 34.1| 15.1| 19.0 5934|  644563| 0.00921
PF2-L 301.4| 34.6 15.2| 19.4 5847|  770140( 0.00759
CL-2 301.4| 32.9| 15.2| 17.7 5335| 654761 0.00815
PF2-R 301.4| 30.7 15.2| 15.5 4672  519227| 0.00900
S2 301.4| 26.4| 15.2| 11.2 3376| 304815 0.01107
Prl ho | bo A AL ol H Qa Preq | Pmax
kN cm cn? N/mm? N/mm N mm
PB2-E 460| 12.0| 40.0| 480 55| 30.9| 22.5| 409 123750| 303| 600
J4 460 12.0 40.0| 480 55| 30.9| 22.5| 423| 123750| 292 600
PF2-L 460| 11.0| 50.0| 550 55| 33.8| 22.5| 349 123750| 354 600
CL-2 45| 11.0{ 50.0f 550 55 33.8| 22.5 37| 123750| 600| 600
PF2-R 400 11.0| 50.0( 550 55| 33.8 22.5| 360| 123750| 344 600
S2 400| 11.0| 50.0f 550 55| 33.8| 22.5| 443| 123750 279 600
req a

@22 =< 50 H/D = 2.27

Qa=1.72 x D < H =< aA/ock H/D 5.5
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H (mm)
D (mm)
ock (N/mm?)
ock = 50 (N/mm?)
Qa = 13378 N/
1 6 Q =80271 N
Iv (State-2) (cmt)
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Ac/n | Yell | yel2 | Ge v Ge/Iv
cm? cm cm? cm* /cm
PB1-E | 312.3] 66.4] 15.1] 51.3] 16021 2272552[ 0.00705
2 312.3| 66.3] 15.1] 51.2] 15990 2275703| 0.00703
P1 297.9] 64.4] 15.2| 49.2] 14657 2666958] 0.00550
J3 312.3] 66.3] 15.1] 51.2] 15990 2275703] 0.00703
PB2-E | 312.3| 66.4] 15.1| 51.3]  16021| 2272552| 0.00705
S H Qa Preq | Pmax
kN N/mm N mm
PB1-E 604| 426 80271 188] 600
32 645 453 80271 1771 600
P1 869| 478 80271 168 600
J3 646| 454 80271 1771 600
PB2-E 605 427 80271 188 600
req a
94

@22 > 100 H/D = 4.55

Qa=1.72 x D < H =< aA/ock H/D 5.5

H (mm)
D (mm)
ock (N/mm?)
ock = 33 (N\/mm?)
Qa = 21737 N/
1 4 Q = 86950 N
H =8 > Gc/lv

S (kN)
Gc 1 (cm)

Gc = Ac/ > d

Ac/ (cm)

d=Ycul Ycu2

Ycul

Ycu2 (cm)
Iv State-3 State-2

(cm)
(cm)
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Ac/n | Yell | yel2 | Ge v Ge/Iv
cm? cm cm? cm* /cm
S1 649.3| -12.8] -25.5| 12.7 8246 525461| 0.01569
PF1-L 649.3| -12.8| -29.0| 16.2 10519 841266 0.01250
CL-1 649.3| -12.8| -30.8| 18.0 11687| 1036905 0.01127
PF1-R 649.3| -12.8] -32.3] 19.5 12661 1201881 0.01053
Ji 655.0| -12.9| -28.0| 15.1 9891 893799| 0.01107
PB1-E 655.0| -12.9| -47.2| 34.3 22467| 2272552| 0.00989
2 642.9| -12.9| -47.7| 34.8 22373| 2275703 0.00983
P1 601.9| -13.0| -50.6| 37.6 22631| 2666958 0.00849
S H Qa Preq | Pmax
kN N/mm N mm
S1 303 476 86950 183 570
PF1-L 160 200 86950 435 570
CL-1 118 132 86950 570 570
PF1-R 171 180 86950 483 570
Ji 210 232 86950 374 570
PB1-E 278 275 86950 316 570
32 295 290 86950 299 570
P1 400 339 86950 256 570
req a
Ac/n | Yell | Yerz | Ge Iv Ge/ v
cm? cm cm? cm* /cm
33 642.9| -12.9| -47.7| 34.8 22373| 2275703 0.00983
PB2-E 655.0| -12.9| -47.2| 34.3 22467| 2272552| 0.00989
J4 655.0| -12.9| -28.0] 15.1 9891 893799| 0.01107
PF2-L 649.3| -12.8| -32.3| 19.5 12661| 1201881 0.01053
CL-2 649.3| -12.8| -30.8| 18.0 11687| 1036905 0.01127
PF2-R 649.3| -12.8] -29.0| 16.2 10519|  841266| 0.01250
S2 649.3| -12.8| -25.5| 12.7 8246 525461| 0.01569
S H Qa Preq | Pmax
kN N/mm N mm
J3 296 291 86950 299 570
PB2-E 279 276 86950 315 570
J4 209 231 86950 376 570
PF2-L 171 180 86950 433 570
CL-2 118 132 86950 570 570
PF2-R 159 198 86950 438 570
S2 302 474 86950 183 570
req a
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(66 )

State-1
SRC State-2
H="Prl =< Gc Iv
S = Prl (kN
=S Q)
Ge (cm®)
Gc = Ac/ >=d
Ac/ (cm)
d=yYcll Ycl2 (cm)
Ycll ( ) (cm)
Yel2 ( ) (em)
Iv (State-1)
22 > 22 > 250 (S3400)
Qa=ol <Al
ol (\/mm?)
ol 0.25 0.05><A Al ><orl 0.5><orl
A b0 >< h0 (cm?)
b0 (cm
ho (cm)
Al (cm)
Al = 2.2 > 25.0 = 55.0 (cm?)
orl (N/mm?)
orl = 45 (\/m?)
M = 1361250 (N.mm) S = 123750 (N)
1 =222 () Y=1.1(m) Al =55.0 (cw)
(N/mm?) (\N/mm?) (N/mm?)
68 140 0K 23 80 0K 0.3 1.2 0K

(Wme)

(mm)

97




Ac/n [ el ] Yel2 | Ge Iv 6/l
cm? cm cm? ot /cm
S1 301.4| 26.4| 15.2| 11.2 3376| 304815 0.01107
PF1-L 301.4| 30.7 15.2| 15.5 4672  519227| 0.00900
CL-1 301.4| 32.9| 15.2| 17.7 5335| 654761 0.00815
PF1-R 301.4| 34.6 15.2| 19.4 5847|  770140( 0.00759
J1i 312.3| 34.1| 15.1| 19.0 5934| 644563 0.00921
PBL-E | 312.3] 35.1] 15.1] 20.0 6246| 702979| 0.00889
pri [ ho [0 [ A [ A ol H Qa [ Preq [ Pmax
kN cm cm? N/mm2 N/mm N mm
S1 400 11.0{ 50.0 550 55| 33.8| 22.5| 443 123750| 279 600
PF1-L 400| 11.0| 50.0f 550 55| 33.8| 22.5| 360 123750| 344 600
CL-1 45| 11.0 50.0| 550 55| 33.8| 22.5 37| 123750 600| 600
PF1-R 460| 11.0| 50.0| 550 55| 33.8| 22.5| 349 123750| 354 600
J1i 460 12.0 40.0( 480 55| 30.9| 22.5| 423 123750| 292 600
PB1-E 460| 12.0| 40.0| 480 55| 30.9| 22.5| 409 123750| 303| 600
req a
Ac/n [ el [ vel2 | Ge Iv Ge/Iv
cn? cm cm? cmt /cm
PB2-E 312.3| 35.1| 15.1| 20.0 6246| 702979 0.00889
J4 312.3| 34.1| 15.1| 19.0 5934|  644563| 0.00921
PF2-L 301.4| 34.6 15.2| 19.4 5847|  770140( 0.00759
CL-2 301.4| 32.9| 15.2| 17.7 5335| 654761 0.00815
PF2-R 301.4| 30.7 15.2| 15.5 4672  519227| 0.00900
S2 301.4| 26.4| 15.2| 11.2 3376| 304815 0.01107
Prl ho | bo A AL ol H Qa Preq | Pmax
kN cm cn? N/mm? N/mm N mm
PB2-E 460| 12.0| 40.0| 480 55| 30.9| 22.5| 409 123750| 303| 600
J4 460 12.0 40.0| 480 55| 30.9| 22.5| 423| 123750| 292 600
PF2-L 460| 11.0| 50.0| 550 55| 33.8| 22.5| 349 123750| 354 600
CL-2 45| 11.0{ 50.0f 550 55 33.8| 22.5 37| 123750| 600| 600
PF2-R 400 11.0| 50.0( 550 55| 33.8 22.5| 360| 123750| 344 600
S2 400| 11.0| 50.0f 550 55| 33.8| 22.5| 443| 123750 279 600
req a

@22 =< 50 H/D = 2.27

Qa=1.72 x D < H =< aA/ock H/D 5.5
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H (mm)
D (mm)
ock (N/mm?)
ock = 50 (N/mm?)
Qa = 13378 N/
1 6 Q =80271 N
Iv (State-2) (cmt)
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Ac/n | Yell | yel2 | Ge v Ge/Iv
cm? cm cm? cm* /cm
PB1-E | 312.3] 64.0] 15.1] 48.9] 15271 2149046] 0.00711
2 312.3| 64.1| 15.1] 49.0|  15303| 2162927| 0.00707
P1 207.9] 62.7| 15.2| 47.5] 14150 2556375| 0.00554
J3 312.3] 64.1] 15.1] 49.0]  15303] 2162927| 0.00707
PB2-E | 312.3] 64.0 15.1| 48.9]  15271| 2149046 0.00711
S H Qa Preq | Pmax
kN N/mm N mm
PB1-E 624 443 80271 181 600
32 660 467 80271 172 600
P1 834| 461 80271 174| 600
J3 653| 462 80271 174| 600
PB2-E 617 438 80271 183 600
req a
100

@22 > 100 H/D = 4.55

Qa=1.72 x D < H =< aA/ock H/D 5.5

H (mm)
D (mm)
ock (N/mm?)
ock = 33 (N\/mm?)
Qa = 21737 N/
1 4 Q = 86950 N
H =8 > Gc/lv

S (kN)
Gc 1 (cm)

Gc = Ac/ > d

Ac/ (cm)

d=Ycul Ycu2

Ycul

Ycu2 (cm)
Iv State-3 State-2

(cm)
(cm)
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Ac/n | Yell | yel2 | Ge v Ge/Iv
cm? cm cm? cm* /cm
S1 571.1| -13.4| -36.6] 23.2 13250  897074| 0.01477
PF1-L 571.1| -13.4| -30.5| 17.1 9766|  805577| 0.01212
CL-1 571.1| -13.4| -32.5| 19.1 10908 994678 0.01097
PF1-R 571.1| -13.4| -34.1] 20.7 11822| 1154196 0.01024
Ji 576.8| -13.4| -29.7| 16.3 9402|  861039| 0.01092
PB1-E 576.8| -13.4| -49.6| 36.2 20880 2149046 0.00972
2 573.1| -13.4| -49.9] 36.5 20918| 2162927| 0.00967
P1 542.0| -13.4| -52.3| 38.9 21084| 2556375 0.00825
S H Qa Preq | Pmax
kN N/mm N mm
S1 280 414 86950 210 570
PF1-L 176 213 86950 408 570
CL-1 91 100 86950 570 570
PF1-R 183 187 86950 464 570
Ji 213 233 86950 374 570
PB1-E 322 313 86950 278 570
32 334 323 86950 269 570
P1 391 322 86950 270 570
req a
Ac/n | Yell | Yerz | Ge Iv Ge/ v
cm? cm cm? cm* /cm
33 573.1| -13.4| -49.9| 36.5 20918| 2162927| 0.00967
PB2-E 576.8| -13.4| -49.6| 36.2 20880 2149046 0.00972
J4 576.8| -13.4| -29.7| 16.3 9402| 861039| 0.01092
PF2-L 571.1| -13.4| -34.1] 20.7 11822| 1154196 0.01024
CL-2 571.1| -13.4| -32.5| 19.1 10908 994678 0.01097
PF2-R 571.1| -13.4| -30.5] 17.1 9766 805577| 0.01212
S2 571.1| -13.4| -36.6] 23.2 13250  897074| 0.01477
S H Qa Preq | Pmax
kN N/mm N mm
J3 328 317 86950 274 570
PB2-E 315 306 86950 284 570
J4 214 234 86950 372 570
PF2-L 183 187 86950 464 570
CL-2 94 103 86950 570 570
PF2-R 177 215 86950 405 570
S2 279 412 86950 211 570
req a
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1(GL G4 G6) )

(an) Qvm?) |
) @ 75%|
1 40.0 3.0] -231( -171)| -104( -90)| -92( -92) -171 -158
SM490Y 40.0 3.0 231( 171)| 159( 159 167(__167) 171 158
2 40.0 3.0 0( 0)| 116( 116) 0( 0) 116 158
SM490Y 40.0 3.0 0( 0)| -101( -101) 0( 0) -101 -158
3 40.0 3.0 0( 0)| 117 117) 0( 0) 117 158
SM490Y 40.0 3.0 0( 0)| -101( -101) 0( 0) -101 -158
4 40.0 3.0| -231( -171)| -103( -90)| -92( -92) -171 -158
SM490Y 40.0 3.0 231( 171)| 157( 157)| 165( 165) 171 158
1.35
1.15
75
K0

1 460.0( 340.7) 407.1(_407.1) 407.1

2 0.0( 0.0) 659.7( 659.7) 659.7

3 0.0( 0.0) 653.1(  653.1) 653.1

4 460.0(  340.7) 406.1(_ 406.1) 406.1

1.35
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M22

( 96000. N
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1
i}
S=  407.1 kN
2)
U-FLG  40.0 * 3.0 = 120.0 (SM490Y )
WEB 74.3 * 1.2 = 89.2 (SM490Y )
L-FLG  40.0 * 3.0 = 120.0 (SM490Y )
A =329.2
Ysu = 40.2 cm Ysl = 40.2 cm
Is = 399535. cm4
3) (N/mm2)
ou ol
(GD) -171.1 1711
([G)) 0.0 0.0
4) C )

1-Fly  40.0 *3.0 A=120.0 cn2 (SWAQ0Y )
oc =171.1 M/m2 > 0.75 * 210.0= 157.5 N/mm2
Nreq = 171.1* 12000. / 96000.= 21.4

52.0 cm2 (SWA90Y )

1-Spl.PL  40.0 * 1.3
0*1.5= 51.0 cn2 (SH490Y )

2-Spl.PL 17

103.0 cm2
171.1* 120.0 / 210.0= 97.8 < 103.0 cm2

24

5)

(G

1-Flg 40.0 * 3.0 A =120.0 cm2 (SM490Y )
( 2) An= ( 40.0- 2*2.5- 2*(2.5- 7.5"2/(4* 9.0)))* 3.0 = 99.4 cm2
( 4) An= ( 40.0- 4*2.5)* 3.0 = 90.0 cm2

A A*l.l O Nreqg N ot
(2) 120.0109.31 171.1 22 22 187.8
(4) 120.0 99.00 171.1 20 22 188.5
ot =187.8 N/m2 > 0.75 * 210.0= 157.5 N/mm2
Nreq = 187.8* 10931. / 96000.= 21.4 22
1-Spl.PL  40.0 * 1.5 = 60.0 - 10.00 * 1.5 = 45.0 cm2 (SM490Y )
2-Spl.PL  17.0 * 1.9 = 64.6 - 10.00 * 1.9 = 45.6 cm2 (SM490Y )

124.6 cm2 90.6 cm2
187.8* 109.31 / 210.0= 97.8 < 99.66 cm2 = 90.6 * 1.1
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6) D) 1
1-Web 74.3 * 1.2 = 89.2 cm2 (SW490Y ) ( 1SplPL= 40.0* 1.3 2.5plpl= 17.0% 1.5)
ow owl
158.3 N/mm2 158.3 N/mm2
158.3 N/mm2 158.3 N/mm2
Ywu = 37.15cm  Ywl = 37.15 cm
P1 ( )

P1 = (158.3+ 93.8)/2 * 151.5 * 12.0 = 229131. N
Nreq = 229131./ 96000.= 2.4

s = 407.1*10"3 / 21 = 19386. N < pa = 96000. N ( 1-Spl.PL= 40.0 * 1.5 2-Spl.PL= 17.0 * 1.9)

P = SQRT((229131./3)"2 + 19386.72) = 78799. N
< pa = 96000. N

—————— S—

2-PL 60.0 * 0.9 = 108.0 cm2 (SMA90Y ) 40 |

[ U |

1 + 90 |

! * k k Kk Kk X I —_——t I

Is = 2%(0.9% 60.0"3)/12 + 108.0% 0.0°2 =  32400.cm4 N
I============] 140| 400

( 60.0 * 0.9)

Iw = (1.2 74.3"3)/12 + 89.2 * 0.0"2 =  41017. cm4

90 2675=150
W = 158.3%  41017.*10°/ 371.5=  174.810°6 N.mm Vbt
o

osp = 174.8*10%6 * 300.0 /  32400.*10™4
< Ca

161.8 N/mm2
210.0 N/mm2

———t

80

———t

[ S —

100
= 200 743
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2
i}
S=  659.7 kN
2)
U-FLG  40.0 * 3.0 = 120.0 (SM490Y )
WEB 78.0 * 1.2 = 93.6 (SM490Y )
L-FLG  40.0 * 3.0 = 120.0 (SM490Y )
A = 333.6
Ysu = 42.0 cm Ysl = 42.0 cm
Is = 441115. o4
3) (N/mm2)
ou ol
(G)) 0.0 0.0
([G)) 116.0 -101.0
4) C )
1-Flg 40.0 * 3.0 A =120.0 cm2 (SW490

( 4) An= ( 40.0- 4%2.5)* 3.0 = 90.0 cm2

A A*l.l O Nreq N ot
(4) 120.0 99.00 116.0 16 16 140.6

ot = 140.6 N/m2 < 0.75 * 210.0= 157.5 N
Nreq = 157.5*  9000. / 96000.= 14.8

Y )

|/mm2
16

1-Spl.PL  40.0 * 1.2 = 48.0 - 10.00 * 1.2 = 36.0 cm2 (SMA90Y )
2-Spl.PL  17.0* 1.5= 51.0 - 10.00 * 1.5 = 36.0 cm2 (SM490Y )
99.0 cm2 72.0 o2

157.5% 90.00 / 210.0= 67.5 <

79.20 cm2 = 72.0 * 1.1

5) C )
1-Flg  40.0 *3.0 A=120.0 cn2 (SWM90Y )
oc = 101.0 N/m2 < 0.75 * 210.0= 157.5 N/mm2
Nreq = 157.5% 12000. / 96000.= 19.7 20

48.0 cm2 (SV490Y )
47.6 cm2 (SV490Y )

1-Spl.PL  40.0 * 1.2
2-Spl.PL 17.0 * 1.4

95.6 cm2
157.5* 120.0 / 210.0= 90.0 <  95.6 cm2
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6)

P1 (

1-Web

P1
Nreqg

78.0 * 1.2 = 93.6 cm2 (SWA90Y )

ow owl
108.3 N/mm2 93.3 N/mm2
157.5 N/mm2 135.7 N/mm2

Yau = 41.90 cm Ywl = 36.10 cm

)

= (157.5+ 101.1)/2 * 150.0 * 12.0 = 232758. N
= 232758./ 96000.= 2.4

659.7*10"3 / 21 = 31414. N < pa = 96000. N

= SQRT((232758./3)"2 + 31414.72) = 83705. N

< pa = 96000. N

2-PL 64.0 * 0.9 = 115.2 cm2 (SM490Y )

2%(0.9* 64.0"3)/12 + 115.2% 2.9"2 = 40293.cm4

(1.2% 78.0"3)/12 + 93.6 * 2.9"2 =  48244. cm4

157.5*  48244.*10M/ 419.0 = 181.3*10"6 N.mm

181.3*10"6 * 349.0 /  40293.*10™
< Ca

157.1 N/mm2
210.0 N/mm2

112

7 2
( 1-Spl.PL= 40.0 * 1.2 2-Spl.PL= 17.0 * 1.5)
!
———te——t
4 |
—_—t I
20 |
—+
| 1
140] 400
1-Spl.PL= 40.0 * 1.2 2-Spl.PL= 17.0 * 1.4)
+ bt
1 40 |
I —+ |
20 |
I -—+ |
[N |
1 140] 400
64.0 * 0.9)
!
!
90 2@75=150
Tt
el
1 +
I p—
! 1 80
T
! 1 |
! * * X I I
! 1 |
! * * x I I
! 1 |
! * * x I I
! 1 |
LI | 4@100
! I = 400 80
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3
i}
S=  653.1 kN
2)
U-FLG  40.0 * 3.0 = 120.0 (SM490Y )
WEB 78.0 * 1.2 = 93.6 (SM490Y )
L-FLG  40.0 * 3.0 = 120.0 (SM490Y )
A = 333.6
Ysu = 42.0 cm Ysl = 42.0 cm
Is = 441115. o4
3) (N/mm2)
ou ol
(G)) 0.0 0.0
([G)) 117.0 -101.0
4) C )
1-Flg 40.0 * 3.0 A =120.0 cm2 (SW490

( 4) An= ( 40.0- 4%2.5)* 3.0 = 90.0 cm2

A A*l.l O Nreq N ot
(4 120.0 99.00 117.0 16 16 141.8

ot =141.8 N/m2 < 0.75 * 210.0= 157.5 N
Nreq = 157.5*  9000. / 96000.= 14.8

Y )

|/mm2
16

1-Spl.PL  40.0 * 1.2 = 48.0 - 10.00 * 1.2 = 36.0 cm2 (SMA90Y )
2-Spl.PL  17.0* 1.5= 51.0 - 10.00 * 1.5 = 36.0 cm2 (SM490Y )
99.0 cm2 72.0 o2

157.5% 90.00 / 210.0= 67.5 <

79.20 cm2 = 72.0 * 1.1

5) C )
1-Flg  40.0 *3.0 A=120.0 cn2 (SWM90Y )
oc = 101.0 N/m2 < 0.75 * 210.0= 157.5 N/mm2
Nreq = 157.5% 12000. / 96000.= 19.7 20

48.0 cm2 (SV490Y )
47.6 cm2 (SV490Y )

1-Spl.PL  40.0 * 1.2
2-Spl.PL 17.0 * 1.4

95.6 cm2
157.5* 120.0 / 210.0= 90.0 <  95.6 cm2
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6)

P1 (

1-Web

P1
Nreqg

78.0 * 1.2 = 93.6 cm2 (SWA90Y )

ow owl
109.2 N/mm2 93.2 N/mm2
157.5 N/mm2 134.4 N/mm2

Yau = 42.08 cm  Ywl = 35.92 cm

)

= (157.5+ 101.4)/2 * 150.0 * 12.0 = 232974. N
= 232974./ 96000.= 2.4

653.1*10"3 / 21 = 31100. N < pa = 96000. N

= SQRT((232074./3)"2 + 31100.72) = 83654. N

< pa = 96000. N

2-PL 64.0 * 0.9 = 115.2 cm2 (SM490Y )

2%(0.9* 64.0"3)/12 + 115.2* 3.1"2 =  40416.cm4

(1.2% 78.0"3)/12 + 93.6 * 3.1"2 =  48345. c4

157.5*  48345.*10™/ 420.8 = 180.9*10"6 N.mm

180.9*10%6 * 350.8 /  40416.*10™4
< Ca

157.1 N/mm2
210.0 N/mm2
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7 3
( 1-Spl.PL= 40.0 * 1.2 2-Spl.PL= 17.0 * 1.5)
!
———te——t
4 |
—_—t I
20 |
—+
| 1
140] 400
1-Spl.PL= 40.0 * 1.2 2-Spl.PL= 17.0 * 1.4)
+ bt
1 40 |
I —+ |
20 |
I -—+ |
[N |
1 140] 400
64.0 * 0.9)
!
!
90 2@75=150
Tt
el
1 +
I p—
! 1 80
T
! 1 |
! * * X I I
! 1 |
! * * x I I
! 1 |
! * * x I I
! 1 |
LI | 4@100
! I = 400 80
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4
i}
S=  406.1 kN
2)
U-FLG  40.0 * 3.0 = 120.0 (SM490Y )
WEB 74.3 * 1.2 = 89.2 (SM490Y )
L-FLG  40.0 * 3.0 = 120.0 (SM490Y )
A =329.2
Ysu = 40.2 cm Ysl = 40.2 cm
Is = 399535. cm4
3) (N/mm2)
ou ol
(GD) -171.1 1711
([G)) 0.0 0.0
4) C )

1-Fly  40.0 *3.0 A=120.0 cn2 (SWAQ0Y )
oc =171.1 M/m2 > 0.75 * 210.0= 157.5 N/mm2
Nreq = 171.1* 12000. / 96000.= 21.4

52.0 cm2 (SWA90Y )

1-Spl.PL  40.0 * 1.3
0*1.5= 51.0 cn2 (SH490Y )

2-Spl.PL 17

103.0 cm2
171.1* 120.0 / 210.0= 97.8 < 103.0 cm2

24

5)

(G

1-Flg 40.0 * 3.0 A =120.0 cm2 (SM490Y )
( 2) An= ( 40.0- 2*2.5- 2*(2.5- 7.5"2/(4* 9.0)))* 3.0 = 99.4 cm2
( 4) An= ( 40.0- 4*2.5)* 3.0 = 90.0 cm2

A A*l.l O Nreqg N ot
(2) 120.0109.31 171.1 22 22 187.8
(4) 120.0 99.00 171.1 20 22 188.5
ot =187.8 N/m2 > 0.75 * 210.0= 157.5 N/mm2
Nreq = 187.8* 10931. / 96000.= 21.4 22
1-Spl.PL  40.0 * 1.5 = 60.0 - 10.00 * 1.5 = 45.0 cm2 (SM490Y )
2-Spl.PL  17.0 * 1.9 = 64.6 - 10.00 * 1.9 = 45.6 cm2 (SM490Y )

124.6 cm2 90.6 cm2
187.8* 109.31 / 210.0= 97.8 < 99.66 cm2 = 90.6 * 1.1
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6) D) 4
1-Web 74.3 * 1.2 = 89.2 cm2 (SW490Y ) ( 1SplPL= 40.0* 1.3 2.5plpl= 17.0% 1.5)
ow owl
158.3 N/mm2 158.3 N/mm2
158.3 N/mm2 158.3 N/mm2
Ywu = 37.15cm  Ywl = 37.15 cm
P1 ( )

P1 = (158.3+ 93.8)/2 * 151.5 * 12.0 = 229131. N
Nreq = 229131./ 96000.= 2.4

s = 406.1*10"3 / 21 = 19338. N < pa = 96000. N ( 1-Spl.PL= 40.0 * 1.5 2-Spl.PL= 17.0 * 1.9)

P = SQRT((229131./3)"2 + 19338.72) = 78787. N
< pa = 96000. N

—————— S—

2-PL 60.0 * 0.9 = 108.0 cm2 (SMA90Y ) 40 |

[ U |

1 + 90 |

! * k k Kk Kk X I —_——t I

Is = 2%(0.9% 60.0"3)/12 + 108.0% 0.0°2 =  32400.cm4 N
I============] 140| 400

( 60.0 * 0.9)

Iw = (1.2 74.3"3)/12 + 89.2 * 0.0"2 =  41017. cm4

90 2675=150
W = 158.3%  41017.*10°/ 371.5=  174.810°6 N.mm Vbt
o

osp = 174.8*10%6 * 300.0 /  32400.*10™4
< Ca

161.8 N/mm2
210.0 N/mm2

———t

80

———t

[ S —

100
= 200 743

120 121



(61
m| S(m) | Sa(mm | Sa
1 30.000 19.1 45.0 2/20,000
2 30.000 19.1 45.0] 2/20,000
S
Sa
122

(G4

m| S(mm | Sa(mm) | Sa
30.000 22.1 45.0 2/20,000
30.000 22.1 45.0 2/20,000

123




(66 )
m| S | Sa(m) | Sa
30.000 27.0 45.0| 2/20,000
30.000 26.1 45.0] 2/20,000
S
Sa
124

500 1000 7/
oa (N/mm?)
500 1000 2000 3000
154 122 97 85
123 98 78 68
olmax olmax  olmin
olmax (N/mm?)
olLmax (N/mn?)
olnin (N/mn?)
oa
50mm t (25 50)°% 0.84
oca 0.50
0.70
1 (N/m?)
olmax | olmin olmax oa
(_olmax____oca)
1 23.9 -7.6 31.4 102 (K
1 -3.6 25.7 29.3 41 (K
2 24.1 -7.4 31.5 102 (9]
4 (/)
olmax | olmin | olmax oa
( olmax oa)
1 31.2 -7.6 38.8 102 (9}
1 0.0 28.9 28.9 41 (K
2 31.1 -7.6 38.7 102 (K
6 (N/m?)
olmax | olmin olmax oa
( olmax oa)
1 37.3 -9.7 47.0 102 K
1 -2.1 34.9 37.0 41 (K
2 36.9 -9.9 46.8 102 (K
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S2
S2
S2

128
81
56
14

126
79
54
11

120
73
48
10

17
17
12
16
16
1
14

3 |a-2
14

J3 | CL-2
J3 | CL-2

P1
P1
P1

J2
16
16
11

J2
16
16
1

J2
14
14

CL-1
127
80
55
13
CL-1
126
79
11
CL-1
120
73
10

S1
S1
S1

~mm
“mm
=mm

S1,82
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1
1 30000 30000
Ji
19000 } 11000 11000 19000
P
ocl
J1 J4
0.0 0.0
-1.5 -1.5
0.1 0.1
4.1 4.1
(¢ )] 2.7 2.7
ocl (\/mm?)
(kN.m)
Ji J4

State3 y(cm®) 884212 884212
(cm?) 981.7 981.7
cli(cm) 64.1 64.1
y/n(cn*) 24606 24606
/n(cm?) 312.3 312.3
cl2(cm) 15.1 15.1
7.3 7.3
v(cm®) 1477682 1477682
clv(cm) 52.3 52.3
(KN.m) 557 557
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4
1 30000 2 30000
Ji J4a
19000 ) 11000 11000 ) 19000
T T
P P
ocl
J1 J4
0.0 0.0
-1.5 -1.5
0.1 0.1
4.2 4.2
(¢ D) 2.8 2.8
ocl (\/mm?)
(kN.m)
Jl J4

State3 y(cmt) 893799 893799
(c®) 984.2 984.2
cli(cm) 64.4 64.4
y/n(cn*) 24606 24606
/n(cm?) 312.3 312.3
cl2(cm) 15.1 15.1
7.3 7.3
v(cmt) 1494610 1494610
clv(cm) 52.5 52.5
(KN.m) 582 582

1 30000 30000
J1
19000 ) 11000 11000 19000
T
P
ocl
J1 J4
0.0 0.0
-1.3 -1.3
0.1 0.1
4.2 4.2
(¢ )] 3.0 3.0
ocl (\/mm2)
(kN.m)
J1l J4

State3 y(cmt) 861039 861039
(cm) 905.9 905.9
cli(cm) 62.1 62.1
y/n(cn*) 24606 24606
/n(cm?) 312.3 312.3
cl2(cm) 15.1 15.1
7.3 7.3
v(cmt) 1398659 1398659
clv(cm) 50.1 50.1
(kN.m) 612 612

134

135




(KN.m)

Ji J4

557 557

582| 582

612| 612

612| 612

(G4
J1 J4

196.6| 196.6
121.4] 121.4

136

4-1

4-2

BL

BO

BL

BO
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4-3

<A\ 0
A >
(m)
0 m)
A (m)
(m)
0 A
(m (m (m ) m (m (m
S1 0.190 0.310 0.900 6 1.900( 1.583 2.483
c1 0.190 0.467 0.600 6 1.900(  1.583 3.767
c2 0.190 0.573 0.600 6 1.900( 1.583 3.767
c3 0.190 0.638 0.600 6 1.900( 1.583 3.767
[ 0.190 0.660 0.800 6 1.900( 1.583 3.967
c4 0.190 0.638 0.600 6 1.900( 1.583 3.767
c5 0.190 0.573 0.600 6 1.900( 1.583 3.767
6 0.190 0.467 0.600 6 1.900( 1.583 3.767
S2 0.190 0.310 0.900 6 1.900( 1.583 2.483
4-4
M) (kN.m) M=) (kN.m) S (kN)

S1 44.0 -35.0 40.0

c1 206.0 -151.0 107.0

c2 266.0 -205.0 118.0

c3 241.0 -166.0 111.0

P1 28.0 -31.0 26.0

c4 244.0 -169.0 109.0

c5 269.0 -207.0 116.0

6 206.0 -151.0 107.0

S2 30.0 -49.0 45.0

138

4-5
4-5-1

4-5-2

BO

(mm)

(mm)
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4-5-3

[©)
(6]
®
ocC
@1
Ac ye X ) R C
ys
As
e o o o B T
os/n
C=oc =< G6c /X « -)
T=n>xoc x<G6/X ( -)
c=T (C )
Gc -nGs =0
X @)
I =Ac><yc?+n>xAsx<xys?=1Ic+nxIs
oc=(M/1) <X oca
os=n>x(M/1)>x<ys osa
M (N.mm)
d (mm)
X (mm)
yc (mm)
ys (mm)
n 15
C )
T Q)
Ge (m®)
Gs (mm3)
Ic (mm')
Is ()
oc (N/mm?)
os (N/mm?)
oca 11.0 N/mm?
osa (140 N/mm?)
140

4-5-4
T
s (0x ) T
s
h s (x<x) T
N
(mm)
0 mm
mm
T N/mm?
h s N/mm?
T 0.48 N/mm?
T N/mm?
4-5-5
o o ><0.75 or
F10T,M22 pa 48000 N
o x Pa> Nst
o N/mm?
o 140 N/mm?
mm?
Nst
4-5-6
300mm
13 126.7 mm > 2 253.4  mm?
o x > sin® cos© 1.15%< 0><T
T T T
o 180 N/mm?
0 mm
o) o
T N/mn?
h s 0.48 N/mm?
T N/mm?
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4-5-7
S1 C1 c2 C3
() | my 44.0 206.0 266.0 241.0
() | my -35.0 -151.0 -205.0 -166.0
(KN) 40.0 107.0 118.0 111.0
() 2.483 3.767 3.767 3.767
0 m 0.900 0.600 0.600 0.600
m 0.190 0.190 0.190 0.190
m 0.310 0.467 0.573 0.638
D16 D19 D19 D19
4 4 4 4
1 () 60 60 60 60
L-90><10 L-130>=<9 L-90><10
- 1 1 1
1 () — 125.7 135.3 125.7
() 794.4 1146.0 1146.0 1146.0
() 0.0 1700.0 2274.0 1700.0
( ) (mm) 440 558 653 729
X 3 (mm) 60 102 120 118
os (N/mm2) 132 138 127 123
osa (\/mm2) 140 (0K) 140 (0K) 140 (0K) 140 (0K)
oc (N/mm2) 1.4 2.1 1.9 1.6
oca | (\/mm2) 11.0 (k)|  11.0 (K| 11.0 (k)| 11.0 (K)
2 (mm) %5 %5 % %
(mm?) 3438.0 3438.0 3438.0 3438.0
( ) () 8537.7 12949.8 12949.8 12949.8
(mm) 405 562 668 733
X 3 (mm) 226 361 409 437
os (N/mm2) 12 26 30 2
osa (N/mi2) 140 (0K) 140 (0K) 140 (0K) 140 (OK)
oc (N/mm2) 1.0 3.2 3.1 2.2
oca | (\/mm2) 11.0 (k)|  11.0 (K| 11.0 (k)| 11.0 (0K)
u (mm) 200 420 500 420
T (N/mn2) 0.10 0.32 0.30 0.25
Ta 4 | (WmP) 0.48 (k)| 0.48 (k)| 0.48 (OK)|  0.48 (OK)
L ud] (N/nm2) 0.45 0.46 0.36 0.36
~Toa (\N/mm2) 1.86 (K)| 0.93 (K| 0.93 (K)[  0.93 (0K)
Ta (N/mm2) -— - - -
(<) _— _— _— _—
( 13) (mm) -— -—- -—- -
(N/mm2) — 138 127 123
-— 4.89 6.01 4.35
1
2
3
4 T

142

P1 c4 c5 C6

() | «my 28.0 244.0 269.0 206.0

() | eamy -31.0 -169.0 -207.0 -151.0

kN) 26.0 109.0 116.0 107.0

[O) 3.967 3.767 3.767 3.767

0 (m) 0.800 0.600 0.600 0.600

(m 0.190 0.190 0.190 0.190

(m 0.660 0.638 0.573 0.467

D13 D19 D19 D19

4 4 4 4

1 (mm) 60 60 60 60

L-90><10 L-130><9 L-90><10

- 1 1 1

1 (mm) — 125.7 135.3 125.7

(mm?) 506.8 1146.0 1146.0 1146.0

() 0.0 1700.0 2274.0 1700.0

( ) (mm) 790 729 653 558

X 3 (nm) 53 118 120 102

os (N/mm2) 72 124 128 138

osa (\/mm2) 140 (0K) 140 (0K) 140 (0K) 140 (0K)

oc (N/mm?) 0.3 1.6 1.9 2.1

oca | (Wmd) 11.0 (|  11.0 (0| 110 ()] 11.0 (K

2 (mm) %5 %5 % %

Im () 3438.0 3438.0 3438.0 3438.0

( ) (m?) 13637.4 12949.8 12949.8 12949.8

(mm) 755 733 668 562

X 3 (mm) 416 437 409 361

os (N/mm2) 4 2 30 26

osa (\/mm2) 140 (0K) 140 (0K) 140 (0K) 140 (0K)

oc (N/mm2) 0.3 2.2 3.2 3.2

oca | (V/m?) 11.0 (k)|  11.0 (K| 11.0 (K)| 11.0 (K)

U (nm) 160 420 500 420

T (N/mm2) 0.04 0.25 0.30 0.32

Ta 4 | (Wm?) 0.48 ()| 0.48 ()| 0.48 (K)|  0.48 (0K)

To (N/mn2) 0.21 0.36 0.36 0.46

Toa (\/mm2) 1.86 ()| 0.93 (k)| 0.93 (K)[  0.93 (0K)

Ta (N/mm?) - - - -

(S] _— _— _— _—

( 13) (mm) —- — — -

(N/mm2) —- 124 128 138

- 4.4 6.08 4.89
1
2
3

4 T
143




S2

) (kN.m) 30.0

() | tm -49.0

[GD] 4.0

() 2.483

0 () 0.900

(m 0.190

(m 0.310

D16

4

1 (mm) 60

1 (GD) -

() 794.4

(mm2) 0.0

( ) (nm) 440

X 3 (mm) 60

os (N/mm?) 90

osa (N/mm2) 140 (OK)

oc (N/mm?) 1.0

oca (N/mm2) 11.0 (OK)

2 (im) 9%5

(mm2) 3438.0

( ) (mm2) 8537.7

(nm) 405

X 3 (mm) 226

(N/mm2) 17

osa (N/mm2) 140 (OK)

oc (N/mm?) 1.5

oca | (\/mm2) 11.0 (0K)

u (im) 200

T (N/mm2) 0.11

Ta 4 | (WVmm) 0.48 (0K)

o (N/mm) 0.51

~Toa (\N/mm2) 1.86 (OK)

Ta (N/mn2) -

(s] _—

(13 (m) -

(/) o
1
2
3

4 T
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1
>
) L1 L1 )
P
1
PC /
(mm) | (m) | (mm) (kN) [CHR @S] (kN) | (KN.m) | (kN)
S1 1900 950|----—- 1960 2940 5 392 93| 196
S2 1900] 950|----- 1960 2940 5 392 93] 196
1.50
) L1 L1 )
P
1
/
() | (o) | (i) (GD)] (KN) ) | N.m| (KN
S 1900| 950(----- 1960 0.25]3><kh><Rd 1470 4 245 58] 123
S2 1900 950----- 1960 0.25]3><kh><Rd 1470 4 245 58 123
/ 1.50
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L1 L1
\ HU
> <
D1
D
N | @) | @m) | ()| (mm) | (om) (mm) (mm) (nr?) (kN)
sL 392| 950 -—- | 800| 340 200| 1| 2136 850 1815841 1925 0K
s2 392| 950 -—- [ 800| 340 200{ 1| 2136 850 1815841 1925 0K
PC <P =TT
(o] 172 45<
o> MIN2><HU  2><( HU) 2x<L1 ¢l
>
>
1.06 N/m?
3
L
P P
B
KN | (m) | (mm) | (mm) (mm) (mm?) (k\N)
S1 245 0 900 450 1 630 567000 601| OK
S2 245 0 900 450 1 630 567000 601]| OK
MINC > < or < V2x )=
>
1.06 N/mm?

146

T
o o
o o
o o
L o o
=l = =
dil d1
H
S1 S2
(mm) 800 800
(mm) 900 900
(mm) 50 50
D19 D19
(@] 5 5
) 5 5
(mm?) 1433 1433
(mm?) 1433 1433
(kN.m) 93 93
(kN 196 196
15 15
(¢ ) | (mm) 850 850
1 (mm) 173 173
c | (m) 66922177 66922177
S (mm®) 1136775 1136775
oc (N/mn?) 1.4 1.4
oca_| (N/mn?) 11.0(0K) 11.0(0K)
os (N/mm?) 82 82
oca__| (N/mr?) 180(0K) 180(0K)
(mm) 300 300
* | (V/mm?) 0.29 0.29
Ta 2| (V/mm) 0.48(0K) 0.48(0K)
o [ (/) 0.88 0.88
Toa | (\/mm?) 1.86(0K) 1.86(0K)
Ta Q0000 ) el
[ I
D13 a m | e e
D16 a mm | e e
D19 a [ e e
T
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5
5-1
(€]
Iv(m) Iv(m) Iv(m) Iv(m) (m*) (m*)
S1-C1 0.004230 0.004230 0.012592 0.012775 0.001516 0.001627
C1-C2 0.006386 0.006386 0.018288 0.018518 0.001516 0.001627
C2-C3 0.006923 0.006923 0.021154 0.021405 0.001516 0.001627
C3-P1 0.008653 0.008653 0.023710 0.023924 0.001516 0.001627
P1-C4 0.008653 0.008653 0.023710 0.023924 0.001516 0.001627
C4-C5 0.006923 0.006923 0.021154 0.021405 0.001516 0.001627
C5-C6 0.006386 0.006386 0.018288 0.018518 0.001516 0.001627
C6-S2 0.004230 0.004230 0.012592 0.012775 0.001516 0.001627
(@)
(m") (m*)
S1 0.001754 0.001846
Cl 0.003452 0.003088
Cc2 0.005366 0.003727
C3 0.006876 0.004200
P1 0.009269 0.006231
Cc4 0.006876 0.004200
C5 0.005366 0.003727
C6 0.003452 0.003088
S2 0.001754 0.001846

5-2
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/
(m (m) (m) (m) (m*) (m)
S1 4.185| 0.190| 0.900{ 0.310 10.0 0.001754| 0.112931 0.001846
C1 7.386] 0.190| 0.600| 0.467 10.0 0.003452| 0.112931 0.003088
c2 7.288] 0.190| 0.600| 0.573 10.0 0.005366| 0.112931 0.003727
c3 7.386| 0.190| 0.600| 0.638 10.0 0.006876| 0.112931 0.004200
P1 7.386] 0.190| 0.800| 0.660 10.0 0.009269| 0.112931 0.006231
c4 7.386] 0.190| 0.600| 0.638 10.0 0.006876| 0.112931 0.004200
c5 7.288| 0.190| 0.600| 0.573 10.0 0.005366| 0.112931 0.003727
c6 7.386] 0.190| 0.600| 0.467 10.0 0.003452| 0.112931 0.003088
S2 4.185| 0.190| 0.900{ 0.310 10.0 0.001754| 0.112931 0.001846
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5-3

o
S1-C1 0.004230|  0.004230 1.00] 0.004230| 0.004230 1.00
C1-C2 0.006386| 0.006386 1.00{ 0.006386| 0.006386 1.00
C2-C3 0.006923|  0.006923 1.00{ 0.006923| 0.006923 1.00
C3-P1 0.008653|  0.008653 1.00] 0.008653| 0.008653 1.00
P1-C4 0.008653|  0.008653 1.00] 0.008653| 0.008653 1.00
C4-C5 0.006923|  0.006923 1.00{ 0.006923| 0.006923 1.00
C5-C6 0.006386] 0.006386 1.00] 0.006386| 0.006386 1.00
C6-S2 0.004230|  0.004230 1.00] 0.004230] 0.004230 1.00

(@)
S1-C1 0.012592|  0.012592 1.00] 0.012775| 0.012775 1.00
C1-C2 0.018288|  0.018288 1.00] 0.018518| 0.018518 1.00
C2-C3 0.021154| 0.021154 1.00{ 0.021405| 0.021405 1.00
C3-P1 0.023710{  0.023710 1.00] 0.023924] 0.023924 1.00
P1-C4 0.023710{  0.023710 1.00] 0.023924] 0.023924 1.00
C4-C5 0.021154|  0.021154 1.00] 0.021405| 0.021405 1.00
C5-C6 0.018288|  0.018288 1.00{ 0.018518| 0.018518 1.00
C6-S2 0.012592|  0.012592 1.00] 0.012775] 0.012775 1.00
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